’ .
i
s

S—

———

f - _
BPrBpppry \% \
4 i

2024/2025

NTumakov’

X

ELDP{ & A






POSUVNE BRANY -
SAMONOSNE
CANTILEVER GATES

POSUVNE BRANY -
KOLIESKOVE
ROLLING GATES

POSUVNE BRANY -
PRISLUSENSTVO
SLIDING GATES -
ACCESORIES

30-51



ZAVESNE BRANY
HANGING GATES

KRIDLOVE BRANY
SWING GATES

6 * HLINIKOVE BRANY
ALUMINIUM GATES

e PRISLUSENSTVO
ACCESSORIES

124-142



POSUVNE BRANY - SAMONOSNE
CANTILEVER GATES

SETY
SETS

PROFILY
PROFILES

VOZIKY
CARRIAGES

PRISLUSENSTVO
ACCESSORIES

4 B J:0







G

Ge

L5

woQg uiw

, S—

136x142

94x85

B0x95 | 90x99

B0x80

70x70

T0x60

GOx60

ANESY UZZHLXIEL-AS
AAE3Y ZPIX9EL-AS
2ISE|2 UZZPLXIEL-NS
2ISE|2 ZPLXIEL-NS
Anesy uzgexpe-NS
AAESY SEXPE-AS

2IZE[D UZGBXPENS
21D GEXPENS
IV-66X06-NS
Y-G6X06°N\S
aise|a-Xoul 08X08-AS
Anesy UZOSX08-NS
Aresy 08X08-AS

21E|2 UZ-JH0BX08NS
215E|2 dH08X08NS
215E|2 08X08NS
NOTAN-2I5E|2 UZOBXO8-NS
NOTAN-2IZE|2 08X08-NS
21ZE|D UZ-dFOLX0LNS
21SE|2 dHOLX0L-NS
2ISE|2 UZOLXOL-AS
2ISE|2 OLXOL-AS
NOTAN-21SE|2 UZOLXOL-AS
NOTAN-2ISEI2 OLXOLNS
2ISE|2 UZOIXOLNS
2I5E|2 09X0LNS

212E|2 UZOIXOINS
21ZE|2 09X09NS
aise|3-Xoul 09X09-AS
NOTAN-2ISE|2 UZO9X09NS
NOTAN-2ISE|2 09X09-NS

do+99=9 (63) 99

(wo) 7

D (cm)

84

111

83
109
101

[44
96

119

102
97

138

156

113
153
134

83
90.

100

87
99

113

134

91

11

147
212
1
2

109

153
134
196
164
250
194
320
237

123

111

168

138

121

20|
07

107

19

110 95

120

100

156
214

1

74
9

132
131
142
134
153

196
164
250
194
320
237

105,
103

116
114

150
131

177
148

150

0

200 |

400

119

120

185

277
213

129

160
225

450 |

450 |

137

122

133

135

182
151

221

226

187
151

232

129

108

122

125

177
290
224
370

134

157
139

143
125

146

159
138

350

140

145
165

135
161

180

187
289
212

550 | 200 |

144

180

151

370
281

165

186

151

370
281

270
205
328
254
400

550 | 275

152
156
166
168
175

155
179

140

189

256

CE

207
197
218
204
229
213

207
176
238

450

185
161

218 178
233

181

450

360

166
193

163

270
1430,

650 | 240

195

255
198
297
227

650 325 |

175
209
187

192

274
216

179

175

700 350

181
194
196
212
313

275
215

214
189

750 | 270

241
254
312
362
425
499
586
716

225
243
362
459
582

315
361

322
|370|

235
257
418

347

750 375

404

800 | 400 |

800 €00

393
493
617

555

900 | 675

774
850

| 900

1200

1300/ 1000

dimenz"

Ga+Gr (Ge = hmotnost brany bez samonosného profilu)/Approximate dimensions for private using

Orientaéné rozmery pre privatne pouzitie G



Goptimal (Gmax.)

200 (400) kg 300 (600) kg 400 (800) kg 600 (1200) kg >600 (1800) kg

300 (400) kg 400 (600) kg 550 (800) kg 800 (1200) kg >800 (1800) kg

Do
e
58
o3
£ 90
S5
7=

OO T

DRIFT-80-SMART

N R -
. nme
vl ntl

ROAD-400 ROBUS-1000 RUN1800-ZKIT
ROBUS4oO-BDKIT  ROBO600 Cipiicsiisd i ROX-1000 THOR-1500

CANE
pa AP T 5
CY jimifSe 4
CAME ﬂ o BB
BX-PLUS-AGS-ZKIT BX-STRONG-AGS-ZKIT BKS-1200 BKS-1800
BXV-4-ZKIT | BXV-8-ZKIT | | BKS-2200

o~ e

KEY o7 .. o ! ..
- ] O m
o 3

TURBOS0-ZKIT-R TURBO80-ZKIT-R

coveho spinaca
stopper

nna jednotka L
mation 5

n l\r z ulice RX ) !

2|5 from street RX

privodu 104

doraz koncového spinaca
limit switch stopper

':.:
e
L . . §
Hlavny privod 230V L mee %N\
Mains supply 230V Seliall S
<20m 30x1,5 CYKY ks
20-100m 3Cx2,5 CYKY L -

3x2x0,5 SYKFY)

3
[
[
[
'
1
1
'
'
'

> dialk. ovladania



MODEL Fe/Zn
60x60
L4m/Gs150kg

H/34BP-4-60x60-
NYLON

SV-60x60 ECO-NYLON

SV-60x60 clasic-NYLON

H/14N-60x60

H/15P-60

H/02-60x60-
Fe-6000

H/02-80x60-
Zn-6000

SV-60x60Zn clasic-NYLON

MODEL Fe/Zn
60x60
L4m/Gs200kg

H/34BP-4-60x60

SV-60xE60-ECO

SV-60x60 clasic

H/14N-60x60

H/15P-60

H/02-80x60-
Fe-6000

H/02-60xE0-
Zn-6000

SV-60x60Zn clasic

MODEL INOX
60x60
L4m/Gs250kg

H8/34-4-60x60

SV-60x60-ECO-INOX

SV-60x60inox-clasic 2x

H&8/14N-60x60

1x

H&8/15P-60

1x

HE/40-60x60

H8/02-60x60-6000

1x

MODEL Fe/Zn
70x60
L4m/Gs200kg

H/34B-4-70x60

SV-70x60-ECO

H/14N-70x60

H/15P-70

H/40-70x60P

H/02-70x60-
Fe-6000

H/02-70x60-
Zn-6000

SV-70x60 clasic

SV-70x60Zn clasic

MODEL Fe/Zn
70x70
L4m/Ge175kg

SV-70x70-ECO-NYLON

SV-70x70 clasic-NYLON

H/34-4-70x70-NY- H/14N-70Ox70 H/15P-70 H/258-70x70

LON
1x - -
Ix 1x =
1x - 1x

SV-70x70Zn clasic-NYLON




MODEL Fe/Zn
70x70
L4m/Ge250ky

L]

SV-70x70BP-ECO

SV-70x70BP clasic

SV-70x70BP-Zn clasic

H/34BP-4-70x70

H/14N-70x70

H/15P-70

M16X30

MODEL Fe/Zn
70x70
L4m/Gs250kg

L]

SV-70x70-ECO

SV-70x70 clasic

SV-70x70Zn clasic

MODEL Fe/Zn
80x80
L4m/Gs200kg

(]

SV-80x80-ECO-NYLON
SV-80x80 clasic-NYLON

SV-80x80Zn clasic-NYLON

H/34-4-70x70P

H/14N-70x70

H/15P-70

H/258-70x70

1x

H/34-4-80x80-
NYLON

H/14N-80x80

H/15P-80

1x

1x

1%

H/02-80x80-

Zn-6000

MODEL Fe/Zn
80x80
L4,5m/Gc250kg

[]

SV-80x80BP-ECO
SV-80x80BP clasic

SV-80x80BP-Zn clasic

MODEL Fe/Zn
80x80
L4,5m/Gc250kg

[]

SV-80x80-ECO

SV-80x80 clasic

SV-80x802Zn clasic

H/34BP-4-80x80

H/14N-80x80

H/15P-80

H/02-80x80-

Zn-6000

M16x30

H/34-4-80x80P

H/14N-80x80

H/15P-80

80x80-
Fe-6000

1%

H/02-80x80-

Zn-6000




MODEL INOX
80x80
L4,5m/Gc300kg

[]

SV-80x80-ECO-INOX

H8/34-4-80x80

SV-80x80inox-clasic

H8/14N-80x80 H&8/15P-80

H8/40-80x80

MODEL Fe/Zn
80x80
L7m/Gs300kg

H/34-8-80x80
-HEAVY

SV-80x80-ECO-HEAVY

H/14N-80x80 H/15P-80

-Fe-3000

H/02-80x80 | H/02-80x80

H/02-80x80 H/02-80x80

-Fe-6000 -Zn-3000 -Zn-6000

SV-80x80 heavy

SV-80x80Zn heavy

MODEL Al
290x95
L4m/Gs200kg

L]

MODEL Al
90x99
L4m/Gs200kg

[]

10



MODEL Fe/Zn
94x85
L6m/Ge300kg

)

SV-94x85-ECO

H/34B-4-94x85 H/14N-94x85

H/02-94x85 | H/02-94x85 | H/02-94x85 | H/02-94x85
-Fe-3000 -Fe-6000 -Zn-3000 -Zn-6000

H/15P-100 H/40-94x85P

SV-94x85 clasic

SV-94x85Zn clasic

MODEL Fe/Zn
94x85
L8m/GsS00kg

U H/34B-8-94x85-

HEAVY

H/14N-94x85

SV-94x85-ECO-HEAVY

SV-94x85 heavy

H/15P-100 H/40-94x85P H/02-94x85-Fe-6000 H/02-94x85-Zn-6000

SV-94x85Zn heavy

MODEL Fe/Zn
136x142
L9m/Gs600kg

()

SV-136x142-ECO

H/34B-4-136x142 | H/14N-136x142

H/15P-145 H/40-136x142P H/02-136x142-Fe-6000 H/02-136x142-Zn-6000

SV-136x142 clasic

SV-136x1422Zn clasic

MODEL Fe/Zn
136x142
L11m/Gs800kyg

D H/34B-8-136x142

-HEAVY

SV-136x142-ECO-HEAVY

SV-136x142 heavy

H/02-136x142H/02-136x142H/02-136x142H/02-136x142
-Fe-3000 -Fe-6000 -Zn-3000 -Zn-6000

H/15P-145 H/40-136x142P

SV-136x142Zn heavy

11



[]

PROFILES

H/02-60x60-Fe-3000

3000
H/02-60x60-Fe-6000 6000 |
H/02-60x60-Zn-3000 60 60 4 15 3000
H/02-60x60-Zn-6000 6000
H/02-60x60-Zn-7000 7000 | #nem
'H/02-70x70-Fe-3000 3000
H/02-70x70-Fe-6000 6000
H/02-70x70-Zn-3000 70 70 4 20 3000
H/02-70x70-Zn-6000 6000
H/02-70x70-Zn-7000 7000 | e
H/02-80x80-Fe-3000 3000
H/02-80x80-Feg000 0 89 5 25 4500
H/02-80x80-Zn-3000 3000
'H/02-80x80-Zn-6000 78 78 4 20 6000
H/02-80x80-Zn-7000 7000
H&/02-60x60-3000 B 45 3000

raw 8/02-60x60-6000 3 6000
: H8/02-80x80-3000 7% 78 5g 2000
Hg/02-80x80-6000 6000
H/02-70x60-Fe-3000 3000 |
H/02-70x60-Fe-6000 6000
H/02-70x60-Zn3000 0 90 35 22 a5
H/02-70x60-Zn-6000 6000 |
H/02-94x85-Fe-3000 3000 |
H/02-94x85-Fe-6000 6000
H/02.94x85Zn3000 ¢ %% ° 33 anpg
H/02-94x85-Zn-6000 6000 |
H/02-136x142-Fe-3000 3000 |
H/02-136x142-Fe-6000 6000
H/02-136x142Zn-3000 0 142 6 38 “ang
H/02-136x142-Zn-6000 6000
s 7000
100 | 176400 | 100 78

™
L)
™
™

M

)
)
M
<
B
H
M
™
H

LE

V/A;)' @ T
k1 "
1
[l
i i | S— - | —/
[

H/! OZ-BOXBb-Zn-D-_TOOO




]

%0

0.2 @131

T e

‘T‘il_-. o = 9
3| = ‘_“J.
I
8w 84 @ (@]
o
&:: &

|Oua|i!\,- Finish art. Color L

' H/02-90x99-AL-6000 - hew
'H/02-90x99-AL-BLACK-6000  black 6000 Fei/
/02-90x99-AL-ANTHR-6000 anthracite MW
| H/02-90x99-AL-7000 - hew
'H/02-90x99-AL-BLACK-7000  black 7000 e/
H/02-90x99-AL-ANTHR-7000 anthracite &M

95

Quality  Finish art. Color L
' ' H/02-90x95-AL-6000 = Mhew
/02-90x95-AL-BLACK-6000  black 6000 Fveil/
'H/02-90x95-AL-ANTHR-6000 anthracite Mew

A-FTT-110

1110, DIN1587 IA10, DINT380

H/02-90x%5-AL-6000
[Aluminium profile)

[T, DIN12 1110, DING31 1410, DIN934 1A10, DIN93T

13



(%)
&
<
o
[ia
<
($)

Quality Finish art. v di d2 A B C D E F
H/34BP-4-60x60

| H/34BP-4-60x60-NYLON 128 50 50 165 44 145 115 60 13
H8/34BP-4-60x60

H/34BP-4-70x70 130 60 60 195 58 200 152 55 17

H/34BP-4-80x80 132 68 68 203 61 200152 56 18

Quality Finish art. v vmax di

H/34-4-60x60P
H8/34-4-60x60
H/34-4-70x70P
H/34-4-70x70-NYLON
H/34-4-80x80P
H/34-4-80x80-NYLON
H8/34-4-80x80
H/34-4-30x95-NYLON

150 170

Quality  Finish art. |

H/34-8-80x80-HEAVY |

14

146 166 51

80

68

d2 A B C D E F|

50 165 44 115 145 60 13;

B0 195 58

68 203 61 200 152 55 17

69,569,5 206 62

LM

100

169 - 189

120




135

CARRIAGES

95

IT 1 1 I L I 1 I |I
I iy} I

$ {3’(} LxMi6

Quality  Finish art. LL-—]

H/34B-4-70x60

144 159

Quality Finizh art. ‘
H/34-4-70x60 | ew

i Quality Finish art. v d2 A B Cc D E F G
H/34B-4-94x85 164 68 298 72 300 125 104 18 150
H/34B-4-136x142 263 113 470 103 470 210 150 17 200

15



s

0
&
<
o
[ia
<
O

)]
)

74

1=
==
======
i ———
e
160- 198

100
210
100
——
P 2 asl
- — —x )
| 3
( ¢ S i )
| pu | | L |
170
I. Quality  Finish art. |
H/34B-3-90x99-NYLON e/
&2
f"-\'\ -
Nl
NE
=

B«
=2
1
ki @15
Al
180 - 198

17x25
100 P

Quality  Finish ) art. I
H/34B-4G-90x99-NYLON e

16



Quality  Finish

Quality  Finizh

art. |
H/34B-8-94x85-HEAVY |

art.

610

168

150

1000

rai]

OO

O

200

I
[
G ¢ &G
== Il 1 1l _ | -
@ S I T [i -
500 450
1000

17

(%)
&
<
o
o
<
($)




%)
w
o
(0]
%)
%)
T
0
<

Quality  Finish art.

o x
[ re IRETRETETETS

o b )

[

"

’

N,
SRR @

’

L)
T TRTIIR )

Quality  Finish art.

H/55-M16x250

30

190

y

40

180

| Quaiity _Finizh
| PVC | raw  H/34-COVER

18

250

Mi6

H/34-4-70...
H/34-4-80...
H/34BP-4-60...
H/34BP-4-70...
H/34BP-4-80...

Z

H/55-M16x250

rd




(%]
1]
oc
O
(%)
(3]
L
O
Q
<

M10
——I—l——
g—l
12 |8

B

[ mioL

@35| N1

19



B

ACCESSORIES

> v

H/14N-60x60
H/14N-60x60-BLACK  black

60 B0 51 72 143

H/14N-60x60-ANTHR anthracite

H8/14N-60x60
H/14N-70x70
H/14N-70x70-BLACK black 70 70 52 83 144
H/14N-70x70-ANTHR anthracite

H/14N-80x80 -

H/14N-80x80-BLACK black 80 80

H/14N-80x80-ANTHR anthracite

H8/14N-80x80 - 76 76

61 92 149

i i

(
:

HAANTO0 70 60 52 72 144

H/14N-94x85 94 85 66 9% 143
H/14N-136x142 138 142 103 161 198

@77

40

H/14N-80x95-NYLON e/ 138,5
raw  Hs/14N-90x99-NYLON A/

20



Color
H/1sP€0 -
H/15P-60-BLACK black
H/15P-60-ANTHR  anthracite
_H8/15P-60
H/15P-70 )
H/15P-70-BLACK black
H/15P-70-ANTHR  anthracite
H/15P-80 =
H/15P-80-BLACK black
H/15P-80-ANTHR  anthracite
Hg/15P-80
H/15P-100 )
H/15P-100-BLACK  black
|H/15P-100-ANTHR _ anthracite

' H8/15P-100

H/15P-145

Quality  Finish art.

. | I

98

31

35

35

50

65

170

a0

'H/16-46x130
H8/16-46x130 |

225

%)
w
7
@]
0]
%)
T
O
Q
<

%

102

83

137

@71

H/16-46x130
H8/16-46x130 |




%)
w
o
(@]
%)
0
TY]
s
<

Quality  Finish art.

W/

Mount type
A

Mount type
B

Quality  Finish art. A B = Mount type |
H/40-70x60P 70 80
53 A
H/40-94x85P 94 85
H/40-136x142P 136 142 92 B

Mount type
B

Fini

[ Quality

22

Mount type
A
art A B
H&/40-60x60 60 60
H/40-70x70P 70 70
H/40-80x80P 80 80
'H8/40-80x80 76

, T6" ¢

e Mount type|

53 A

52 B

5

|
|
1) ;
|
|
)
0
A B
!
S S i — )
[ERE]
M8
A e




74

68
20

T
@
a
|
77
95
&

H/40-90x95P
H/40-90x95P-BLACK black new
H/40-90x95P-ANTHR  anthracite e

D7
T

Ne &/ 4

90 1.5

| ‘ ‘

H8/40-90x99P
INGELE] raw  HB8/40-90x99P-BLACK black | EW
H8/40-90x99P-ANTHR  anthracite  F4€W/

A e
P
H
| — -
o b |
P ——
|
I
= ‘
1
N ———/ TV VT

SECTIONP P
p—]

E2/258-40x40 40 40 4.8

E2/258-50x50 S0 50 2
PVC  Black H/25860x60 60 60

H/258-70x70 70 70 6

H/258-80x80 80 80

23

%)
w
7
@]
%)
%]
TY
O
&)
<




POSUVNE BRANY - KOLIESKOVE
ROLLING GATES

KOLIESKA
WHEELS

% SPODNE VODIACE PROFILY
TRACKS

OBLUKOVA KOLIESKOVA BRANA
CURVED ROLLING GATE







_H/31U-60 -

H/31U-60-BLACK black 58 75 64 17 85 27 55 200

' H/31U-60-ANTHR _anthracite

H/31U-80C -

H/31U-80C-BLACK black _

H/31U-80C-ANTHR anthracite 78 95 85 100 70 300

| H8/31U-80-R10 0 28 e

| H8/31U-80-R10-NYLON 25

H/31U-100 . 98 115105 8 22 132 102 400

lH/31_V-60 27

raw | Hg/31V-60-NYLON 28
H/31V-60-BLACK o 75 64 17 85 p 55 200

H/31V-60-ANTHR anthracite

H/31V-80C .

H/31V-80C-BLACK black

H/31V-80C-ANTHR anthracite 78 95 85 20 100 .. 70 300

| H8/31V-80

| H8/31V-80-NYLON = :

H/31V-100 98 115 106 22 132 102 350

20

- B~NYLON . e
g A

vEd

N/

&
1]/ ==
L
D

H/38U-80C | o
H/38U-80C-BLACK black 8 20 - e
H/38U-B0C-ANTHR _ anthracite 78 37 28 135 4, 250 s . W
- H8/38U-80-R10 23
o raw
Ml ' He/38U-80R10NYLON 1 55 112 hew
H/38U-100 98 40 32 8 22 150 127 300
_H/38V-80C |
AW
H/38V-B0C-BLACK blal:k‘ 37 o8 50 34
H/38V-BOC-ANTHR  anthracite 78 i 185 112 250 I
H8/38V-80
_H8/3BV-BONYLON - I - — hew
H/38V-100 98 22 150 127 300

26



1 |
|
L - * L] -
R % >
a
“el s
L
Quality Finish art. : R D a G L M Gmax/2pcs . ARV NPTV | I
i (ka)
H/06U-60 17
- 58 ———: oy 200
H8/06U-60-R10-NYLON 10 24 Hew
H/06U-80
8 20 55 10
H8/06U-80-R8 . .
i 78 28 300
- He/08U-80-R10 o 25
~ H8/06U-60-R10-NYLON 24 - hew
H/06U-100 98 8 22 30 70 14 400
il a 58 17 200
. H8/0BV-B0-NYLON = \ew
H/06V-80 55 10
. H8/08V-80 78 - 20 300 4
~ HB/0EV-8O-NYLON - 28 - (e
H/06V-100 98 22 400
30 70 14
H/06V-100-2 100 25 700
H/06H-50C 50 15 27 40 8 120
H/06H-80C 78 20 28 55 10 300
78
]
o PN ®
1V
]
\ / =1
o™
art. R C”'j:éf":' Al 1
H/49U-80 8 250 € w5 &
H/40v-80 1l - w0 - v -

Finizh art. Gmax/2pcs (kg)

Quality

SRR /311250 Heavy

600

S e sl

g

27



L 6000

L) o 10290 — 100
— 8 & & | & |_& |
» #75 A7
——re & & S &
[ [
10
H/39V-... — L3 —
H8/39V-...
o &
L 1
TN T I S
H/39U-...
H8/39U-...
Qualit Finish B art. B R L R o k\__/
H/39U-3000 3000
60 465 8
H/39U-6000 _ 6000
| H8/39U-3000 3000 i
: . 55 40 10 i
| H8/39U-6000 6000
H/39V-3000 3000 |~
H/39V-6000 6000
< 60 465 5 . v U
| H8/39V-3000 13000 e
| H8/39V-6000 6000
art | 1(v)  P(W) N INPUT: 230V AC
DEVICEGUARD 18 | 230V 18

Vyhrievaci kabel/Heating cable

LA

lg!
N9

art |
Devi 19400126 ew

Sbojcwacia sadafConnection set

28

N  INPUT: 230V AC




=
Quality  Finish art N P | Mnew [ L ﬁ

BN - sovesocm | v - |

L3 |

o 9

MI0Xo0

H/31U-80-SP 58 67,5 56,5
H/31U-80-SP | 78 87,5 76,5

| hew

|35
115

@37
' x
Quality Finizh art. h A ey g, VAN
| hew

H/31U60PL 58 85 100
H/31U-80-PL 78 103 130

29

i
@é
E2
od
O
o




POSUVNE BRANY - PRISLUSENSTVO
SLIDING GATES - ACCESORIES

HORNE VEDENIA
UPPER GUIDE BRACKETS

d: DORAZY
STOPPERS
%ﬂ ZAMKY
LOCKS
ey

HREBENE
RACKS

TELESKOPICKY SYSTEM
TELESCOPIC SYSTEM

i







NYLON

e

H/12-4T -

H/12-4T-BLACK black 140-180 140 53 10 35 12
H/12-4T-ANTHR  anthracite

H8/12-4T - 135-175 155 56 16 58 14

- _ s m
QE i e & fath
(0]
M et ﬁ { ﬁ i
%m ,‘_,/"E_i__. —— : T
g ‘
: ; 3l le 0% _lo® |
Quali Finish =
o e .
[puns] [euns]
' o O =
é" - j: "‘. e & o \ i3
y i 0 E HYLON ;

@)
L
&
N

H/12-2 165 - 68 - 41 2565 - - 64 - 16
H/12-2S

H/12-25-BLACK black
'H/12-25-ANTHR anthr_qcit_e
H8/12-25 -

164 15 57 11 30 3585 14 36 60 34 12
ew




H/53-2 I -
H/53-2-BLACK black  dveW
H/53-2-ANTHR anthracite W

I /520w U/40x40
H/53 -
H/53-BLACK black
g T —— U/40x40
H/53-ANTHR anthracite

'H8/53 -

Mew
Hew

S

345

N

7
T

b
15

125

40

H/53-30W
MiZ
;) 2!
L] % =
3 i o
| s
L _'__
T
16-63_| 30 40

0 5

BEARING

MI0

PLASTIC

N

s
)

L%

33

L
o)
22
Oy
&S
a

g
S




100 3%

- ™ H
Fan - Miz

0-190 @8
100 -
76
g R M fral
w H— @
Sn
oh gz | . e - oY
iifs)
Q . s
%§ : \g;(’ i
40 230
g -
&
=
H/04-25-W
H/52-40x40  11/04308H/
04-30-W
H/04-32-W
HB/52-40x40 1o amw
HE/04-32W |
D
P —
=
M
Finish art. Color e D H M \
H8/0422-W  Wnite - 22 A/6900-020
H/0425W Wi - 25 -
H/04-30-W White -
H/04-30B Black _ HEieD
H/04-32-W White »
H8/04-32-W  White AL/RP-6005-6000-N
H/04L-40W  Whie % 40
H/04-42-W White q 0 U/50x50

H/04-42-B Black




|V

78
—

RUBBER

; PLASTIC
| (
[

H/04G-43 U/50x50
. k. ! B "
raw  Hs8/04G-43 AW

q -
&
Ay
' Mi0

BEARING

Il:—l.r

e ~

: H/04L-35 s U/40x40
raw  Hs/04L-35 AL/RP-6005-6000-N | foei/

w
o
50
Ol
S
G
20

v
A/6900-020 28x26 2 2500 HB8/04-22-W|
U/40x40x3-3M 3000 H/04-30..
40x40 ? H/04-32-W
raw U/40x40x3-6M 5 8000 H8,/04-32-W|
U/50x50x3-3M 3000 H/04-42.
50x50 i H/04G-43
U/50x50x3-6M 8000 H/041-42

, |

4000 16,8 35

v
ALUMINIUM  natural | AL/RP-6005-6000-N  H8/04-32-W, H8/04L-35 | e/

39



t~_NYLON

H/21-76W 95 76 Mew
) 62 1/2° 5
H/21-152W White 168 152 ew
H/21-250W 265 M 250 16 6
H/21-305B Black
. 320 66 305 1/2° 5
H/21-305W White
w
So e I
Oy Ll M
rite)
o
s
=3 11
w

iy

IR /575520
36

590 9



B
RUBBER \\ b
=
RUBBER
@ \ #—— PLASTIC
'
e 4
C CF M1z
T T
art. Color b c B
H/37-40P - 4
H/37-40P-BLACK  black hew
o - 50 83
H/37-40P-ANTHR anthracite Mew
H8/37-40P
H/37-60P H/16-46x130 tl_ &
H/37-60P-BLACK  black mew H8/16-46x130 =g
: - 50 103
H/37-60P-ANTHR anthracite e
H8/37-60P
H/37-80P 80 60 123 w
Swn
o}
X
4 19 285, EO
: i
@ Q
L 5
-~
{;_ — +H
3 el 8
= = :
L b
= &
L 174

174

art Color
~ H/16-46x130 2
H/16-46x130-BLACK  black  Fvei/
H/16-46x130-ANTHR anthracite 4L/
HE/16-46x130 5

{
-
}

130

174

f
G

80

Il

s 8

| Jx 11x30
art.

— : | 160
RN+ 1esoxi30s e

37



%]
cc
L
o
2%
2
w

H/10B-60x130 I
H/10B-60x130-BLACK
H/10B-60x130-ANTHR
'H8/10B-60x130

Colar

black | e
anthracite FvEW/

H/10B-50x80
H/10B-50x80-BLACK
H/10B-50x80-ANTHR

black | eW

anthracite il

ISR 1/ r0m-50c120 el
38

%

60

(_ e f\w
(- —o 1
/ =
||:E;_ =8
i _ oy 1
\.J A
e 100 "
50
o -
o
8
\\
‘,-3-@
- / @1
[ 3| 8
& o]
76
100
3 o
B
p
[~
2 S
o
G
A W
45
g5




Quality Finish art |

BN v oes50as oW

_ H/10B-130x85-SPRING vl

Finizh

IEE -/ 105p-150x02-sPRING el

L1100

92

72

2
wy
!
g,
s
115-130 o
o)
S|
[ _
l
Q
~0 o]
| - 1 FI CDF
x
o] |

1 %”-I_-J —
TR G ;
N 2
92
120
115 - 150
\ \\I / 8“

9]
o
L
o
o
2
w




s |
N
I s
|
(¥
5]
%)
o
w
o
o
3
e
()
| ol ~_RUBBER
S
'Rubber black B1/16G
15
wy S\ Russer
Fl= & i
B el

'Rubber black B1/16G-B

40



o

H/35K
H/ 36-30K
H/36e-40K

H/36-20K

H8/36e-20K
H/46-40x40
H/46-60x40

%
v v
% % v
/
%
% v

D17
15
K11

40

205

D17 D19
17 1
K12 K13
v
'
'

@ ¢ ¢l 5

[$—6 —T 1

260

40

200

ENENEELNLNEN

19
30
K22

D19,5

35
K23

41




Quality  Finish art.

RSN +/550n

H/35K

Quality  Finish art.

H/36-30A
H/36-40A

:

P

56 27 H/3630K |

66,5 37

H/36-40K |

Quality  Finish art.

_ Hfss-zm

H/36-20K
H8/36-20K

42

180

25

188
£

100

72
130

72

120

36

25

- :(-D}
P el ]
&
o ]
2

168

© © oo

160

®




78 40

2
170

| Quality Finish art. |

BN vssx

38
| 9@7%

72

Quality  Finish B art. A B |
' H/36-30K 60 27
H/36-40K 80 37

e e

160
200

Quality  Finish art
| H/36-20K |
He/36-20K
43




\ H/O1PVCI-BS
Y

O !

\'\/Q./'a P

Steel rod

O

215

20

20

628 2889 3014 2889 628
1005
H/O1PVC~J
(o1 Fi art viodule X (ka) 01PVC-J-BS H/C
H/01PVC-J-BS 3 -
3 x
PVC raw H/O1PVC-J 4 300 1x
H/01PVC~J-2PACK 2x 2x Mew
H/01PVC-BS
SR y
_.L .
499 7386 1005 2386, 1005 2386 512
H/O1PVC
Quality  Finish art Module Gmax(kg) H/O1PVC-J-BS H/O1PVC-FS
H/01PVC-BS 3 -
) x
PVC raw H/01PVC 4 300 1x
BN | H/BIEVCIPACK ox 2 hew
H/O1PVC-S-BS
1018
Steel rod 65
H/O1PVC-S
Quality  Finish art Module Gmax(kg) H/O1PVC-F
H/01PVC-S-BS -
PVC raw 4 1200
H/01PVC-5 1x




1018
493 286 1005 2385 1005 7386 512 Steelrod
65 - =
i I |1
H/01PVC-UP-BS [ |
AVAVAVAVAVAVA'
2
53
H/01PVC-UP
Qualty Fimish art. odule Gmax(kg) H/O1PVC-FS
H/01PVC-UP-BS
PVC  raw 4 700
[l | H/O1PVC-UP

T

-
P _3 &
Wgy’of*' - -

H/O1PVC-FS V\T/Q.j.

0 3,)’ r
2
o o

H/01PVC-FS-J

Quality  Finist

1zh

Bl

H/O01PVC-FS-J _: e

s
‘ wi o
™| ™
‘
2l
H/D1PVC-..
Qual Fir art
A19/01PVC-05 5 (e il
PVC aw
. A19/01PVC-10 10 | e

45



Qualrty Finizh art. :
¥ (kg)

NYLON | faw  H/01PVC-AL 300

al  H/O1PVC-AL-K

Finizh art

H/O1PVCFS-AL el

Quality Finizh art.

490

o 275, 16,8 . 1008 . 1008 . 188 . 275 11
i — T g N
T I T !I‘:l:' !I_I__,_I:I T o
AN A s A A e AN A AN AN N A A A A A e ] &
| | I -2_0-
T
H/01PVC-ALK
w 3000 __i i
4 “ = 125
_+_
[_ 25
‘ - 616933 - ‘ "o0s
50.8
38.8
IR
= & j 12
5o
4000




Qu Fi

H/O1Fe-30x8H
H8/01-30x8H
H/01Fe-30x10H

H/O1Fe-30x12H

EEEN voiresocon 5

450 . W0, 525 |
| |
. I B | +
4 T W
| 1
1 !
art Module hxb Cx|-!~,:‘.x-:':g-3‘. E
30x8 1200
3x
30x10 1500
30x12 1700
1000
= A
| | |—.
yJ i 30
SECTION A-A
lod
5000 )
=4
M8
»20
81 275
AR
__'/ -\__
S w ]
T




ey Mk SV-... H/10B...

g
<<
(O]
Q
o
(0]
O
%]
L
=}
i}
'_

max L c U/40x40x3-3M
8000 U/4ordona-em | /206000

3500 2690 900 H/37..

4000 3060 1020

4500 3440 1150

5000 3810 1270

5500 4190 1400

6000 4560 1520 250

6500 4840 1650

7000 5310 1770

7500 5690 1900

8000 6060 2020

s 6000
[
[
(]
[
| 40 1

v U/40x40x3-3M 3000 ARy raw  A/20-6000 @

U/40x40x3-6M 5000

920
|
|
|
|

[¥5}




LS

| muwmwm  natural TS-C2-8-AL 8000 | e

]

T

)

A 4|

Y

%
L
D .. @

g

SV-90x95-AL

H/02-90x95...

7

H&/12...

C

H8/10B...

I3]

49

.
<C
O]
Q
o
0
(®)
(%)
L
]
]
=




i
<
(O]
o
o
(]
O
0
L
=)
i
'—

Fe

50

3000
4000
5000
6000
7000
8000
9000
10000
11000
12000

13000

14000
15000

TS-52-4-N
TS-S52-8-N
TS-52-15-N

1890
2390
28390
3390
3890
4390
5140
5640
6140
6640
7140
7640
8140

4000 hew

8000 Aew

15000 ew
350 300
600 400

H/39V-... H/39U-
H8/39V-... H8/39U-...
.
\ h : . -
& \ \
™ &\ i . A
3
o 3
o B R S
H/38... H/31
HB8/38... H8/31
H/37... H/10B...

I3]



| re | REESRE

3000
4000
5000
6000
7000
8000
9000
10000
11000
12000
13000
14000
15000

1380
1710
2040
2380
2710
3040
3630
3960
4290
4630
4960
5290
5630

15000

2%

350

600

H/39V-...

|H8/39V-..

H/39U-...

H8/39U-...

V4
o
P gy VTR . 8 i =N
H/38... H/31...
H&/38... H&8/31...
=
& & -
U/40x40x3-3M
[H/12... U/40x40x3-6M
s ]
i ' > /
H/3T... H/10B...

I3]

51

0
5
(O]
Q
o
o
o
2
@
'—




ZAVESNE BRANY
HANGING GATES

PROFILY, VOZIKY
TRACKS, CARRIAGES
PRISLUSENSTVO
17" AccessoriEs







Finizh art. a b t s L

e s e 000 —— 8000

H/18-33x34-Fe-6000 6000

33 34 2 10
H/18-33x34-Zn-3000 _ 3000
H/18-33x34-Zn-6000 6000
| H/18-42x54-Fe-3000 3000 =
plitea 2 ea ke G0, : 200 ' “
H/18-42x54-Zn-3000 3000

42 54 25 12
H/18-42x54-Zn-6000 _ 6000 H/18.. | H/47B.. | H/a7v..
H8/18-42x54-3000 3000 HE/18.. | HB/47B.. | H8/47V._
H8/18-42x54-6000 6000

fAE-AZx 13000 5x
H/18-57x67-Zn-3000 3000
Rate xR nat D s7 &7 3 16 - 000
H/18-57x67-Zn-6000 6000 ~ Leooo 9x
2% Bearing

)
(5] g B
<
i
O art.
o g 0]
o H/07-33x34 33x34
_H/07-42x54 42x54
H/07-57x67 STx67
4y Bearing
m
art U
H/08-33x34
33x34
H/08-33x34-NYLON
H/08-42x54 i 400
H/08-42x54-NYLON 12 200 42x54
H8/08-42x54 58 500
H/08-57x67 700
20 85 57x67

H/08-57x67-NYLON 350




r /2pnce
Quality  Finish art G'““‘_'I:"' I"‘]"' D

|
ISR - 2633:4 60 33as |

(1]

PROFILES,
CARRIAGES

" o max/2pcs
Quality  Finish art y ‘p | | ‘
kg)

H/27-33x34 80 |
Fe 33x34
H/27-33x34-NYLON 40

@s
9

et 2

‘ Quality  Finish art Gm:..-;_;pcz m =~ -
(ka)

_ H/28-33x34 60 33x34 | e

55



39
Ij |
+
M 1 1 s
1 1 ™~
L] o
] '
‘ FrI=A
[T I I
e S
H — &
=]
1
I
1]
Quality  Finish art. a b d k e M D
H/47B-33x34 425 485 9 26 35 8  33x34
H/47B-42x54
: L 53 72 37 42x54 /L3000
NEELE] raw  HB/47B-42x54 1 30 10 Sxf1600d
H/47B-57x67 66 86 42 57x67
60
-~
I 11
e
=]
HA
P
P
a
A
¥ |
- 5 "
(]
- |
(I | I\
g o= Y
(%] 1
N 20
O
2 "y
Quality  Finish art. A a b = M U
H/47V-33x3¢ 110 425 485 70 8 33x34
5x/L.3000
120 53 72 80 42x54
raw | Hs/47v-42x54 10 9x/L6000
H/47V-57x67 130 66 86 94 5Tx67
60
M
| | FEE Fﬁ
7 i
4
= .
D O o0
P

.-Ouzlii‘; Finish art. a b M U |
H/23-33x34 425 485 B 3ma4 |
H/23-42x54 s25 72 4254 |
H/23-57x67 66 86 STxBT |

56



HARDENED RUBBER

% le’ﬂzzﬂ:ﬂ

art. a b c U !

33x34

H/22 42 22 25 42x54
H/22-57x67 59 40 40 57x67 |

Finizh art. M a b d H D
H/48-M8 8 100 20 4x6 20 33x34
H/48-M12 12 150 25 BxB 24 42x54
H/48-M20 20 150 40 4x10 32 57x67
: 10 :
[ 1 /hﬂﬁ
= (7]
r L
o
@]
(5]
w (%)
11}
| i | 8
| <
& : BRASS
Q ity Finizh art. |
[ e+ aracs [ U L
-
> L 83
3
1!
25
—
|
50

H/59-Zn-3000 3000
/P32 0-B000 SR 6000.|

57



(%]
w
c
(@]
1%}
1%}
L
s}
<

Quality

Finizh art. L
|H/02-70x60-Fe3000 3000
l H/02-70x60-Fe-6000 6000
H/02-70x60-Zn-3000 3000
H/02-70x60-Zn-6000 6000

58

H/08-70x60B H/08-70x60S
Quality  Finish art. Gmax D
H/08-70x60B
Fe 400 70Ox60 |
H/08-70x605
-
. -
| Quality Finish art.
H/48-M16

60

e

70

35

|
oL
07
|l |
e i +
|l |
s |
140 |
i |
e - b |
g 1o-o—-O—o—0T g L8
& , &
i ]
r S|

RS

H/48-M16




175 140

k W P25 &j —%—]
o

10
HHEEH
i
o~

H
=
s
Y

| Quality  Finish art.

H/47B-70x60

SECTION A-A

P83

eyl
RN

7]
w
o
Q
A
7]
L
s
<

Quality  Finish art. @ Gmax/2pcs (kg)
D16/77-60 Flat 50




KRIDLOVE BRANY
SWING GATES

g
il
g

&

i

ZAVESY FLEX
FLEX HINGES

ZAVESY FLEX - ATYP
FLEX HINGES - ATYPICAL

ZAVESY FIX
FIX HINGES

ZAVESY PRE ALU BRANY
HINGES FOR ALU GATES

DORAZY A ZASTRCE
BATTENS & LATCHES

ZAMKOVE SETY, KRABICE
LOCK SETS, BOXES

ZAMKOVE DORAZY
SHRIKING BOXES
ZAMKY

LOCKS

KOMPATIBILITA
COMPATIBILITY
KLUCKY
HANDLES

STITKY
LOCK COVER PLATES







W
o
(==

y

76
55
g

Fe / Inox

. A
NP
(EEN
: ®

Gmax/2pecs

art. Color M B - s A ﬁ
(ka) f

| BE=EMLSK 12 5663 27 20 40
[ASELEY raw | DB/53-M12K - hew |Q5/09-Quick-Fix QF5
D4/53A-M16-K
 D4/53A-M16-K-BLACK  black 16 6475 33 29 60 mew
D4/53A-M16-K-ANTHR anthracite new

h B
a
©°
= A /
(P I .
| | '_|: 1.
=N ] Lt A = Fe [ Inox
e
Fan Pan '
% )
s

Gmax/2pecs

Quality  Finish art. Color M B hixh2 a b @ g
i - (kg)
D4/53-M16-K -
D4/53-M16-K-BLACK black 64-75 33 29 el
: I 1 80x80 55 55 60
D4/53-M16-K-ANTHR anthracite Mew

D8/53-M16-K 64-80 i | ﬁ
D4/53-M18-K 18 6485 90x80 68 68 80 f

30
D4/53-M20-K - 74 74 43 B y
 DA/S3ME0K 20 6990 100x100 —__ i T 100 |@5/09-Quick-Fix QFS
 D8/53-M20-K 75 75 35

D4/53-M24-K 24 79115 120x120 80 90 50 35 150
(%]
L
]
= 4xP10.5 30 cxd
i _

75
55
O R0

=]
65
20
[

P
S & = H
35 B
55 ?
Quality  Finish art M B cxd ﬁ
D8/53F-M12-K 12 50-70 6x16 W
| DB_{SSAF—P.HS-K | 16 70-85 8x18 Q5/09-Quick-Fix QF5




Quality  Finish art. = M B hixh2 g Gmax/2pcs
(ka)
D4/53-M16-30x30 30x30
16 5575  80x80 38 200
D4/53-M16-50x30 50x30 new
D4/53-M20-40x40 40x40
i 20 6585 100x100 48 300 el
D4/53-M20-80x40 60x40
100 90-130 .
75
)
\‘\.
s s O
T ,Q

100
75
43

]1
]

Quality  Finish art.

I oo/sevzo

Quality  Finish art.

| D4/45T-30

Gmax/2pcs
(kg)
100
30
©
(=]
oy
30
Gmax/2pes
(ka)
100

63




100

75
-
&
Mz20
s|e
Pan
)
\
Quality  Finish art.
D4/26A-M20
55
35
b2
— »
i) 9?
P R?
A &

Quality  Finish

D4/30-30x90_..
D8/30-30x90...

Quality  Finish art. c d t
Fe D4/30-30x90x3

AISIZ04/  D8/30-30x90x3

Fe E D4/30-30x90x5

AISI304 D8/30-30x90x5

64



1™ Fe/ Inox

=5
{

55-90

L= 1] z = =
! \ T /
S
Quality  Finish art. M B d D - s Criax/2pes
(kg)
D4/22-M12-K
e 12 45-53 22 40 27 20 40
D8/22-M12-K hew
D4/22-M16-K 54-65 29 33 29 ?,-c.'i‘;’ﬂ
oot o B 16 46 80
D8/22-M16-K 54-75 30 35
D4/22-M18-K 18 64-75 36,5_ 80
D4/22-M20-K 64-80 35 52 42
3 20 100
D8/22-M20-K 58-80 35
[
T
—n S
o
E.S;E
L
i
1
I
. . Gmax/2pcs
Quality Finizh art.
‘ Y (ka)
N o:/22-vz20m 100
v
Quality Finish art. = M B d D - Gm?x__-"zpc;
(kg)
D4/22-M16-30x30 30x30
16 5575 25 52 48,5 38 200
F D4/22-M16-50x30 50x30 MW
i y |
D4/22-M20-40x40 40x40
20 B585 29 60 51,5 48 300
D4/22-M20-60x40 60x40 Mnew

+4

305

65



riex

Gmax/2pecs

Quality  Finish art. M B d D e s S
(kg)
D4/19-M12-K 12 44-55 18 22 26 20 40 |
D4/19-M16-K 16 4360 22 25 33 29 60 | Lo
D4/19-M18-K 18 5470 23 28 36 30 80 |
D4/19-M20-K 20 5970 26 30 43 30 100 |

I I —
Quality  Finish art. M B d D e s
D8/19-M12 12 3560 18 22 24 16 40
raw  Dg/19-M16 16 4060 21 23 28 20 60
D8/19-M20 20 5070 25 31 37 29 100
¥
[T
o T EI [ v
LL
—
T
B =

Gmax/2 c:l
Quality  Finish art. M = B c D d a s :' P |
| S (kg) |
D4/19-M16-30x30 30x30 Mew
4560 38 29 22 465 38 200
D4/19-M16-50x30 50x30 | hew
D4/19-M20-40x40 40x40 Mew
: 20 5070 43 31 25 515 48 300
D4/19-M20-60x40 60x40 MW



s0-75

l_l_| 'I_I:I
5| o) s| el 8] o}
\ i =y [ /
1 I_tl
3 \
Fe

Fe
I Quality  Finizh art. ) Gmax/2pcs I_I<-_:J]_|
D4/19-M20-N1 100 |

52-85

30
@25
M20

inist art

N, 1
._ E B
. Gmax/2pcs (ka) R !
IS o4/10mz0r

2 {
100

67



HINGES

| FLEX-ATYP

Quality  Finish art M B =
~ D8/67-M12 12 40125 27
D8/67-M16
16  54-167
D4/67-M16 40
D4/67-M20 20 62-160

Gmax/2pcs

Gmax/2pcs

(ka)
20 40
60
30
100

Quality  Finish art. M et
(ka)
A5 kLEY raw  D8/67F-M16 16 60

Gmax/2pcs (kg)
100

Quality  Finish art.

D4/63:M20

68

$

43

40

A1

B
= = i
@ ) _IN .
L HH L] ]
g Fe / Inox
190 )
40 - 170 |
I igis o,
| (L] [ L\/
o 5]
131 -
f’ T FHHO 125V =
=177 1] 15587
—J L _I_n —__‘—l—
@10,5
40
100 LTS
S T
= {
_—r
| M0 \fe
3

-




| FLEX-ATYP

B
— ; - —
= [ i 2 o . _ B . 0/ A
? . u D
[ ]
A t
e i
f | 1M | s
[ N
L 4L :
Fe / Inox Fe /_Inox

h =1
m

closed
Gmax/2pes
(kg) : |

D4/64-M16 o
L pLRaNY 16 100 60-170 8 60 CHﬂ:“ @ B:l
D8/e4-Mi6

RDA/E 120
D8/64-M20

Quality Finish art. M

20 120+ B65-160 10 100

90
&b
5

18

©
A

Quality  Finizh art. Gmax (kg)

IS o/ 75 w16 o mew s

69



RS ENREEE - HEAVY DUTY

E
82
49 - 73
£,
o)
O
)|
=R I
s 7
|
Quality Finizh art. Gmax (kag)
I o s 250 044

30
=

1 L

FE R R R R

I FE R R R

T P R
-

e E T R
2[] L L
83 reress e
10 resereee

" min. 925 sessssese
- - 40 PR

max 1025 trsrsree

*rs s reae

10

10

L S
i hadh b B
[ *resesas

m *reesaaa
-t
% | b ﬁ»,,::::
o 1 |||
=i
|0\v|:|l Finizh art + = .

+k

70



o=l iR CRNREE - HEAVY DUTY

N
o R
BN o
N
=]
&
8
L
_%_
0 __//__ =
L
A
7
22 |
51-64
83
e
| Quality  Finish art. Gmax (kg) | ) o W e 2
D4/52-D50 400 | Nl
n7
10 ) 75-90

\
|
O_

B I -

— =)
S

i ?3
— 50x50

78
A

|

- A r |
S
|Qu:|ity Finizh O

art. Gmax (kag) |
D4/52P-D40 300 | pew

71



-

210x20
79
95

L

| hew

2 2
v (4]
1% 14 ) |
al 9 al 21
oo e
= =
il g
& &

Colol art

grey D4/83-40x40-GREY
sh Color art

grey  D4/84-40x40-GREY

Finish

Quality

elniimie S3ONIH




FIX-EXCENTRIC

53 1125

100
78

|
=
35 |
.
o

sgﬁ‘ =3
]

BN o/7sv 120

100
78

825 83 __‘
[oofDo i 5 S0
T e}

53 |
80

40

art Finizh

Quality 04‘,_?_33- 120

800 | 2,57 Lo S 1 R N 88 176 264 351 436
1000 | 2,0° 41° 61" {5 il | 6 B B 70 141 21 281 351

1300 1,6° 31 47" 82° 7.8° 54 109 163 217 271

1600 1,3° 25" 3,8° 5.1° 6,3° 44 88 132 176 220
L b ow o I !
tr 1800 | 11° 23" 34° 45° 58° 39 78 118 157 195

73



MOBER Fix-WELD . .

j

|

Quality Finish art. D H B Gmax/2pcs (kg) :

| D4/11-40 40 12

| D4/11-60 10 20

' D8/11-60 " B

| D4/11-80 12 80 14 40

D4/11-100

:. 14 100 16 50

| D8/11-100

| D4/11-120 e B

D8/11-120 16 20 60

D4/11-140 140 19
B 0
e ,

BEARING ——= = =

o
T
m
)
L]
T
)
1]

Quality Finish art.

] D4/11-160 20 160 25 80
raw | D4/11-180 20 180 22
- 100

| D4/11-200 22 200 25

| @18 |
() %
1 .
Y]
£
=i
4
| | =
 Bhninniol! P . 8 b
3 D4/11-165S o =
PEEY | Ds/11-1655

74



BVIBBEN x-\vELD

091 - ISk

T .
Quality Finish art.

M - ooisor

Gmax/2pcs (ka)
100

_ M2

T, 1
H
™ &
) 3
! —
@ [ 1L @
! 1oL
i 18
i
T -
~
i
| T
:Qu:lity Finish art. Gmaxf2pc:.{kg}|
D4/11-150RD 100
|
I
Si - Horizontal Regulation Vamnlag_uim{m]
= ©
e
||
Horizontal Regulation (£2mm)
* Horzontal Reulation |1
i ' (©)
i |
Ril
1 Huwmuwm.{tml
) 25 DOOR LEAF
| Quality Finish art. Gmax_.-"2pc:{kg)| i
1 G 3
D4/11-160-3D 160 new FRAME Verti! Reguistion

75




SE=tan

A il

= T BRASS
0
N
Quality  Finish art. D H B

%94}41-21 21 110 28

' D4/41-25 25 130 35 80

' D4/41-30 30 155 45 00
= 0

[)
JO
0
Qo7
Quality  Finish art. D H
 D4/47-100 20 105
D4/47-122 24 125 80
| D4/47-146 - 142 100
' D4/47-195 195 120

0
T,
[}
Z
I

20 70
27 20




Finizh art o
nizh

Nl - o &0

Gmax

s JEURLYIR 120

g

% s———Bearing
g

R.

s BNCS AN

9,
-2

4]

| |
o™
=+
Bearing
=)
o —
| @
— Bearing
o™
g
_ |
0!
o~ YAl
S RN 5
1% Ry
31
44
B—--'—--—
ps
i}

hi

D4/32-20 19 20 90
D4/32-24 23 24 100

60x60 200
70x70 300

7




-

70
13

art. e Gmax/2pcs (ka)

|. Quality Finich | T
m_ =atin | D16/73-70-000 Flat 50 | \Ey

=
&

~ 8 . .
i ‘. LM

-y
&
| Quality  Finish art Gmax/2pes (ka) M

_satin | D16/73-70-042 424 50 o)/

0
[

0

SECTION A-A

36
b0

1 —
ol
r—

[%p] ! »
(0] Flat 50 |
Z
T ) 62 R
—
i
o 1 i
©) Ot 3
— &
|‘C)’ 1 O 1
- 1
¢6 ™~
e 1
5 '
Quality  Finish =T Gmax/2pcs (kg) . ©

Il osjesee | w0 | mew &
78



IIGBER Ix-SCREW

T T—T—F
85

Quality _Finich art. Gmax/2pcs (kag) | i :

LEELEY satin | Da/se-85 30 | mew

O

=Tt

L}
Quality  Finish art. Gmax/2pes (kg) | é I

D8/87-100 25 | ew

|

1 i

Quality  Finizh art. Gm:x&pc:{kg!| |
D8/88-40 25 | hew O

75}
L
]
=
e

1,5

- 120 -
oo i
w
(o) o lil o (o) 3
|

CI_
——

Quality  Finish art. Gmax/2pcs (kg)
D8/89-26 25 e

1,2

79



FIX-SPRING

o ] : [J]e | e
1= 1] 5
: k
b L
@ |
== -6 o=
d '
H‘H"“"—-,,_ ,
'H."'G.;\-_h \
T 4
—--I—L-—[I
i
O==0
I__
Z
| D8/e9-75 g2 77 56 32 18 55 98 if - 20 15 4/
satin Dg/e9-100 117 102 77 42 18 55 10 T - 22 pa
Dg/e9-125 141 126 92 45 20 65 1 9 - 28 27 | o
1_ Nas’raveme/saly
D4/69B-75 g8 75 54 21 21 45 85 6 - b 15 -;' Tensionle‘ué;
: 3 z 2 ; ] -
. D4/e9B-100 122 100 78 45 21 55 8 9 - 24 22 v =
BRASS » - -
__D4XSQB-125 147 125 101 57 21 55 10 1 5 31 27
_D4ISQB-150 172 150 126 80 26 55 8 14 6 35 40
D4/69N-75 97 75 55 24 20 45 8 4 - 22 15 » -
| / “Poistny kolik
. D4/69N-100 124 100 76 43 22 45 9 & - 28 22 ' Locking pin
NP | L z ”
D4/69N-125 148 125 102 57 22 5 85 11 6 32 27 (/i
D4/69N-150 172 150 126 80 26 55 95 14 8 42 40
5
_FI |F |I ‘@
& Lo
& T
! L
o rod fF= =
¢ @
1 w 1
@ i

raw  DA4/72Fe-100 —1?:'
: 122 100 78 45 21 55 85 9 22
Ni | Da/72N-100 s
| D8/72i75 93 77 53 2 18 55 9 6 15
!aw | De/72-100 117 102 78 43 18 55 7 22
D8/72i125 141 126 92 45 20 65 . 9 31 27 4/

80



Nl FIX-SPRING

120

Gmax/2pcs “'_‘E?.

grey D4/72AL-120-GREY

60
180

Gmax/2pes (kg)
D4/72AL-180-GREY
D4/72AL-180-WHITE

Pruzinovy zaves
Spring hinge

MNastavenie sily
ension level

Pruzinowy zaves
Spring hinge

(%)
L
]
=
at




fiber-
reinforced
polymer

fiber-
reinforced
polymer

fiber-
reinforced
polymer

82

REINFORCED POLYMER

raw

D19/01N-90L

neutral

raw

D19/01F-90L

fixed

raw

D19/04G-90L

adjustable

- FOR ALUMINIUM GATES

%
ht
vV

r\‘y@ \W‘ AR i\\ %\
z STO\T
o A T
\@/ L ~ 1, LS
16 60 i 0
Ll 1
13 35 L]
% %= M=
f Ne ¥ S
@<_ 8 G
% /
o8 e 12 % i
35
P NN i 552 5 NN
% {7—‘— j? } AR \\\\\\\\\\\\\\ AN \\\\\\\\\\\\ AN o
e 12 |
;., > |.° 4—j
1 r\T I \_LM j_y
|16 80 1 9
o i
[
12 3
7 Zm=D
jﬁ NEC S A y\
. ~ AT 7
(_ ks 2= 2
28 MW 12] % []
11
185
o 2
A & &),
% =~
= -
8.5 |
40
4 €3 €3> )
T 11
| i)
70 Ml



Si=NZels{ei=pEselR¢ V=28 - FOR ALUMINIUM GATES

L Bl 7y iy
o I Ve /] iy
€=l 7 L
F s SCRECEO
16 2 | a 1] % |
110
] 16 U
ES &6 @ l

2\

art. Tension Gmax/2pes (kg) |
reilﬁnlf,:;ed raw | D19/02N-110L  neutral 35 |MW
| polymer | |
il BB
25
L ELAEN & (B
NE2/ AN N
o MO A O I 11111 9
. ) VLIV §
i %FO\TJJ (o) {o
| AN &7
n | bl a 5|
110
40 16 kL)
E i & € © l
| Quality _Finizh Tension Gmax/2pcs (kg) | RXQM ‘ g E:E:E:E:Eﬂ?:"
r\;&% raw = D19/02F-110L fixed 35 !m

-

(e




fiber-
reinforced
polymer

fiber-
reinforced
polymer

REINFORCED POLYMER

raw D19/03N-110L neutral

raw D19/03F-110L fixed

- FOR ALUMINIUM GATES
wide leaf 35 hew
wide leaf 35 Hew

110

[

i

1.5 K] 1]
14D ™
N R
|
_%E ®
&
Py R
& <
| =0 2
» 0
90
<
(& —
b= -
X SSOH
SRR RS TIRAS
110
3 [
e j N
P &
&
- - 5T
&
& B
" A\ g
0
@0

I3

J1i




=l gels{ei=bRzle]R{V ISzl - FOR ALUMINIUM GATES

Y
A
= € | I
o
75
N4
¥

()
fiber- . l _J\_/
reinforced raw D19/05G-135L adjustable heavy duty 480 Mew
polymer
2 i

/@

/an)
U/
T
[i]§
! Lid Ty
0 17
(i
N7 N
N RC | <
e p7=
e _/}HIV/

o
fiber- heavy duty
reinforced AW D19/05G-135  adjustable 480 hew
polymer (no legs)
N
54
| I I l = \(EDTD o CS\I
b |
_ |
— @/ —
L
2)1R

135 1

(x2) %

-

(]

a

{*¥)
fiber-
reinforced | AW | D19/0BGA-135L adjustable o2 U 360 mew
polymer (fully adjustable)

85



=N Zels{ei=pEzelh¢ V=28 - FOR ALUMINIUM GATES

T
%
ig :
p ; . . ¢ s
[ ! g
| i
ag 2992
-3 - 76 -
L1
o 3 én‘ e
&a -l i
i
Quality Finizh art. - J
Quality =} —? |
fiber- hooked "
reinforced  faw | B19/01S S v | hew Pt 348! 3807
polymer (single sided) - - - -

5720

14,

) g

0,784
25

I 4 2992
b1 1.462] e
| ar.l - 78 -
30 4 { 5 o

r - ! .
N F 2
il g% B
i
Quality  Finizh type —’ |
fiber-
reinforced ~ faw  B19/01D o v e
polymer (double sided)

)
i}
5
S
%]
c
L
a
o
=
(%)

B19/01-KEY Booy W

86

5.720
145



=N iZels{ei=pEz eIV =28 - FOR ALUMINIUM GATES

Spacer

=

180edg
I{\I:[I i

fiber- :
reinforced |~ faw | B19/02S ramels o J
polymer (side pull) 10 4

fiber-
reinforced ~ raw | B19/06-150 e ™
polymer ! ™

-y

STOPPERS, LATCHES

fiber-
reinforced raw B19/055-45 new
polymer

87



BMBBER FOLDING

? 1
—
A-FS-110-D
A
C
= f g @
-
I I
i . o i
Py ®
@
: T Tems
Lo
i
11
'ﬁ‘
al p
o s
il
[N
q
P
¢ 1
i
i
( Bl 1Y
¢ R
H :] i
H
Lyl
e :—-1
el
P g
|Qu:\1ity Finish art. A B c d e f g h G.
130 A-FS-110-D 1500-3000 30,40 750-1200 130 115 100 250 40_
~  AFS-150/60P 18003500 50,60 900-1500 150 155 120 270 65  gue D16/77-60




I FOLDING

—
— | A L max S2 (kg)
2000 940 205
| 2500 1190 170
B_q E;E | 3000 1440 145
3500 1690 120
4000 1940 105
4500 2190 a5
L=(A-65-50)/2 — 5000 2440 85
|
g ]
. —_
] M =
1]
L+150mm
4 =0
:;} ‘
sl e
~250mm
| Quality  Finish ] art. A B
F5-250 1900-5000 40/50/60

A

1000-1500 1000-1500
- /i @
o
il £
T

1 B

. /
- e »
25 370 395 15

|Qu:|itv Finizh art. A B | 1g
_ Fs-150 2000-3000  50/60 | - -

89



=
SECTION & &
A
2 5

/,L\

l O/

m | o Lo 2 - » -
B b H h e r ‘f
& A

138 110 50 22 60 '

100 75 42 20 45 Nl /

90
= 1
AN
; J | 0=
uJ ﬁ
% |
0 - 150 o
_ 105
I = N 0%
8l & 1A ki
\§H/
~1— @

Finizh art

| black B1/32-G

90




>

H/10B-60x130 | -

H/10B-60x130-BLACK  black | #veil/

H/10B-60x130-ANTHR anthracite| FvEW
raw  Hs/10B-60x130 1

50

B e

Y
- Q\
W
(o @“
o0 —
| k. y
H/10B-50x80 - 76
H/10B-50x80-BLACK  black | Fvei/ o

H/10B-50x80-ANTHR  anthracite mew

LT,

D45

77-117

)
o
w
o
6
=
)

Q"

Qualit Eini=h

ISR /102 500120 | hhei

%

?\ _
e
]

1

-
o)
A~
o
A7

91



STOPPERS

Quality  Finish art |

BN - oes50as oW

_ H/10B-130x85-SPRING Fvei/

92

1zh

IEE -/ 105p-150x02-sPRING el

92

@27

o
1

sality  Finish

ISR +/ 105P-50x100

115-130 2
®F
Nl _
| ¢
o 2
|
| . Ikl
x
%.
- o)
o |
T == T J Q 8
{;b\——_.-l\_ ' '
120
115 =150
Nz -
]
50




H/58-43 43 | hew
H/58-63 63 | Hew
1
% !
;= !
= |
3
O 4
H/PKO1-D80 76 260 96 87 e
H/PK01-D100 102 280 110 80 |fvew
H/PK01-D120 123 355 130 146 | el
B
x
=| o RUBBER
=)

[Rubber black B1/16G

130

— © §

bber black B1/16G-B

';r' T LS  —
i 79
108
25
50
S
N 8
G )
4 |4
} OO
D80
D100 D120
45

@40

@105

. RUBBER

93

)
o
w
o
6
=
)




)
i}
5
=
=

D7/12..
D8/12...

Qualrty Finish art.

D7/12-200
D8/12-300
D7/12-300
D7/12-500
[AEELEY raw  Ds/12L-500

f

I o7 /24315

D7/19-300
D7/19-500

200 82
300

30
500

@

300
500

v

D8/12L-500

NPSIC e

WYL0

Y
o
2%
_
-
4
1



Quality Finish art.
IR o7/ 1150 /

I o7/ 17150 ‘|

LATCHES

2,5

DiiEUaE==— 200,
D7/25-300 300
D7/25-400 400

95



=1 i

)
i}
5
S
%]
c
L
a
o
=
(%)

-

Quality

ISR o7 /23150

Finizh

art.

"

/-.

96

art.

rapie g
. D18&/74-70-000

EELEY
AlSI316 [

| D8/74-70-042

D16/74-70-042

=

& o
/'
s
I35—E|6 I
|I Ii:||IIII
35
ﬁ
© | |
)

43 -66

&

E[_

150




8€¢
08l

Quality  Finish art. —?} ‘
NN o7 22120 |

I
N

Y W
16 9
o
LM
ax ©
-
D7/22-235Zn
_raw  D7/22-235-Fe .
l s
& g .
i o S m
1 i
= o
_._.Iil.__ I 20 5
o | 0
e E e | . &
"‘kh i
. 3
k4 =
I | 0
N
A
+
m 1
! |
ol =
-
}: [0
-3 S I
I IEJ

ISR o7 /22160 /
97



=1 i

STOPPERS, LATCHES

}T

art.

D10/011-120

1
Gmax/2pcs (kg)|
|

art.

black D10/03AL-190-BLACK

Gmax/2pes (kg) |

grey D10/03AL-190-GREY

100

-

—5

®
D10/011-120

i

D10/03AL-190..

W

. 240 2l
T I i
B T e e {1 i
b }
_ @42
2
i -+
i
w
1]
2
-+
2
Regulationpin {77 '
175 g
245 T
== =6 |
B i

COUNTERCLOCKWISE




8
t I e !
@ 'I'U“ ab e'ﬁ%ﬂitﬁh%%ﬂ?&ﬂ 8'

I sl &
DI: TR A !

280

| Quality _Finich it Gmax/2pes (kg) |
D10/051-280 80 new

Door:

Quality Finish art. Norm Dimensions c = /G/°max

Ws/z-101 EN1154, EN:2-3 230x33x57 1200mm/65kg/ 120°

=i iy
o

)
L
5
5
o)
cc
L
o
5
=
&)

. e, . Doer:
Quality Finish Color art. Norm Dimensions

<= /G/*max

AISI304 | i WS/Z-104

EN1154, EN:23 182x41x63  S00mm/60kg/180°
black pESHERCKcO TS

| hew

99



R e

- BR/30x30-cet S | B1/62U40 B1/34-32A | D1/14AL | D1/14AR | B1,/33-30 B1/30-50A B1/19N D2/28-Zn

- °

BR/30x30-set | B1/52430x30 | B1/30-17x82
: B1/07T-30 | B1/0850M E2/258-30x30 | | B1/10N | D2/07Zn
BR/50x30-zet | | [ | B1/58450x30 | B1/30-35x80

Al

BR/40x40-set I B1/58J-40x40 B1/30-22x80
BR/€60x40-set B1/62U-40 I B1/58)-80x40  B1/30-40x90 B1/19N D2/28-Zn
BR/80x40-set B1/58J-80x40 B1/30-50A

(7]
ul
=
©)
m
E.
(%]
X
®)
(@]
|

set ! I ﬁ_:: &‘

P e 0xa0zet | B/c2e00 | By/onai0A | B8/30205 | Bi1oN | Dg/osi |

100



Quality set ‘.}': f‘: a 3
l LD .
12-24
Vac/Vde

-BR/3OX30-SE‘EES§B1,-’1&LC B1/61U-40B1/34-324 D1/14AL | D1/14AR | B1/33-30 B1/30-50A B1/18N | D2/28-Zn | D5/11-Zn  DO/05-Zn

» |

. ol §_

614
| Vag/Vde | |
BR/30x30-cet E g2y | B1/520-30x30 | B1/30-17x82
B1/18- |B1/07T-30 B1/08-50M| _ T B1/19N | D2/07-Zn | D5/11Zn | DO/OSZn
BR/50x30-cet E 286-30x30 | B4 5805030 | B1/30-35x80

]
- »

12-24Vac/Vde

Quality et ! I I ' E‘T & 3

| B1/58J-40x40 | B1/30-22x80

B1/181C B1/61U-40 | B1/58)-60x40 &1 /30-40x00 B1/19N D2/28-Zn D5/11-Zn DO/05-Zn

| B1/58)-80x40 ! B1,/30-504

0]
u
X
0]
m
rL_Jo'
%)
X
@)
0]
=

Quality set

12-24Vac/Vde

WEILYERE/40x40cet E|  B1/181C | BA/81-40c40

Py | &
H B8/30J-40x40-A | B8/30-20xB5 B1/18N | DE&/05-i ! DE/ 04+

101



=
L=+ o 1
L ¥

7]
ul
=
©]
o
E,
(%]
o
Q
o
aal

Quality

Finizh art A B = D
B1/60-40x40 40 21,5 90 40
raw  B1/59-50x30 50 30
: 34 72
B1/59-60x40 60 40
Finich art
raw  B1/48-80x40
— >
art. A B o
. B1/63-40x40x1500 40 22 90
B1/63-60x40x1500 60 34 72

1500

] G
i )@// ]
W |l
I &
Ny - I
,—@‘0} |
2 H -
i o
s
X -~
- A 40
:L;L: T s
" | B
i ,@.@3 i

1050

%
A

&

B1/62U-40

B1/61U-40

B1/07T-40 |

B1/62U-40
B1/61U-40

B1/07T-40



Die
el
\‘3’fo ™
| e
Pav
. vy [T
ﬂ - A
Al
+

LDl Y satin| B8/58J-40x40
- 40 19 40 200 B1/30-22x90
B1/58J-40x40
B1/58J-50x30 50 32.5 90 30 260 215 B1/30-35x90
B1/58J-60x40 60 375 B1/30-40x90
. B1/58J-80x40 80 47 B1/30-50A
. B8/39J-40x40-A 40 B&/30-20x85
AISI304 ¥ | BEARAI0 N 210 ’;7--4\4(0
B8/39J-40x40 40
18,6 85
. B1/39J-40x40 . y B1/30-20x85
B1/39J-50x30 50 o 300
B1_{52J—30x30 30 13 B1/30-17x82
B1/52J-40x40 40 82 40 190
21,5 B1,/30-25 5x82
B1/52J-50x30 50 30
T
: .
L]
X
—_— |
|

1520

=

g T
z;ﬁft: o s g5
m satin | B8/63-40x40x1500 B8/30-20x85 H
[}
L
X
(0]
o
&
0
e
O
o
=
—_—
I L
1
m_ satin | B8/63-D42x1500  B8/30-20x85 | MeW B1/58J-80x40

103



ﬁ T i T
0z Mi Ile_ J ; 26 :
* s - }9—e—¢ | L I
1= o /w P _ _ e i
ot | L 1]
@ - | &
| S e | N ——
___ __ = S
_P\ /b_
[ w

185

e
L3
o
- 3
o
©
S
=
w

&=z S3X0d DNIMIH1S

| B8/62-40x20
-! |
-
l
art
B1/62U-40

B1/62U-45x45

104



Quality Finist art
m ‘satin = B8/61-40x40

m

Fe w | B1/07T-30 30
LUSELER satin | Bs/07T-30
Fe raw | B1/07T-40 4

kLN satin | B8/07T-40
Univerzalny doraz pre klasicky alebo elektromagneticky zamok.
Universal stop box for clasical or electromagnetic lock.

B1/61-46x36-L B1/61-46x36-P

B1/61-46x36-P
new
B1/61-46x36-L

C

e | JEDCI

sh art

paji]

RUBBER

PLASTIC

ge

——————

Lo}
— =
[+ F
46
36
ek o |
.$_ -+
B
8 —CJ L
li3lgl
= g3
2
= -~
0
o I ?
B1/61-46x36-P
a5 12 L0
= rEe
&
E:ﬂ- B
o
] (HE
& [l
+ 1|5
A 2
™~
H
2
@' RUBBER _{5}
— PLASTIC
S

Bi/18-LC| B1/18F

B1/07T-... B1/18-LC

B8/07T-... B8/18-FP
46
18 3|23
-
b A2s e
9 i
&

103

.
B

340
258
338

i 40.5
=
e
‘t¢~

B1/61-46x36-L

B1/18-LC Bi1/18F

105

0
X
(@)
m
g
&
=
o
=
(]




| Quality  Finish

Quality  Finish

Fe

Aisizos [EETRS
Fe
AISI304

art.

| Quality  Finish

106

arc. |

B1/30-40x90 ‘

art. A B D E F s t
B1/30-22x90 39 19 178 20 220 200 3
B1/30-25x90 175 235 216

= 40 225 )
B8/30-25x90 180 - 240 210 —
B1/30-35x90 177 235 216 '
— 50 325
B8/30-35x90 180 240 210

210

28R

230

170

90

=N
—1/

25

90
170

375

le @ 1 1
190

E

& —= = ¥

|

B1/52J-30x30

B1/58J-40x40
B1/30-22¢00 | BY/ERI840
B1/30-25x90 | - !
B1/30-35x90 | B1/58.-50x30
B8/30-25x90
B8/30-35x30 )
20
o
A
=
&
#
&
B1/58J-60x40




80 20

235
90
170

21

3 47

Quality  Finish art. [

.- B1/30-50A ‘ B1,/58J-80x40

& |
T %]

210

[¢ &
I

]

LI
b 4D

| ——
B1/30-20x85 B8/30-20x85 1
B8/30-30x85 o]
: . — _ B1/39J-40x40
| Quality Finish art. A B D F t B1/30-20x85| B1/39J-50x30
B1/30-20x85 365 185 174 240 25 B8/39J-40x40
B8/30-20x85 w® 8 B8/30-20x85 | B8/39.-40x40-A
e - 170 238 3
BS/30-30x85 45 27 hew BS/30-30x85 .
41 2%
=] e
F — § J
= g
=
~ o |:| @«
ﬁ | @
1| of ]
|
i - —
215
— ]
Quality  Finish art.
B1/52J-40%40
B1/30-25,5x82 B1/52J-50x30

107



£ 1

]
Quality  Finish art L
f | B1/19N 225
HRkec i B1/19N-60 25
B1/19N-70 30
B1/19N-80 35 . hew
Quality  Finish art D Power supply
B1/184 6-14 Vac/Vdc |
. Bs/18-LC o8
raw | 2Ry % 12-24 Vac/Vdc e

'V kludovom stave zablokovany,/ Locked in default state

108

1

190

210
170

52

236
250

|-4>
.Q.



Quality  Finish art. Power
| supply
12-24
B1/18-LC Vac/Vde
V kiudovom stave zablokovany/Locked in default state
Quality  Finish art. PowEs
| :_uppl_y
12-24
B1/18-F Vac/Vde
Quality  Finish art.

79

Odblokovanie
Unlock

Oneskorovaci kolik
Delay pin

79 20
od
L
+2
-«
29 20
3

250
237

Q

775

o

&
o

14

25

NO/NC
Contact

109




128

@22

ip
é " o i
4 ﬁ HI
S ,

e L p

&7

67

46
62
—
ﬂ

KO1 |/

Quality  Finish art. Model i}

\ O
= 4 S 5 S I
o — M- L
s B2z B2
2 SN B W
128 128

M m—/T\( .
Quality  Finish art. Orientation Model i ) i i ) & LU—\L/(‘) ol
right

:  D8/15G-R-
msizos o e

' D8/15G-L4 left

=D
46
&2
[

Ko2 K11 @53 @53

D8/15G-R-i D8/15G-L-i

4
[

62

Quality  Finish art. Model

tin  D8/014+ K320

D8/09i D8/09B-i D8/08i D8/08B-i
Quality  Finish art. Model

D8/09-i
D8/09B4 Ko1 hew

—atin  D8/08

" D8/08B-i i | W
- D8/08-WC new
. Dg/09-WC

110



120

45

45
=5
B5
46
A

Color art. Model

Quality

Finizh

AISI304 - BOjos 15
i RAL  black D8/03-BLACK K02 | gaem
AISi201 [ - D8/03-BB |

10 a5

D8/01-i D8/01-BB
Quality  Finish art. Mode!
(EELEY  DB/ol-i Koo
Alsizo1 |7 D8/01-BB Mew

120

o
<+
W T 1
[ ]
53
S5
D8/06-i D8/06-BB ™~ : o —
Quality  Finish art. Model 1 £
AISIZ04 . D8/06G
zatin KO 38 28,5
AlSI201 D8/06-BB new
116
1
3
=
= R -
D8/010- D8/010-BB 52
2 e 2
Quality  Finish art. Model ¥ =
32

K01

At




120

10 50

D8/02-i D8/02-BB AR "lé:_'_'
= S LA
Quality Finish art. Model
26

K02
new
120
2
=
30
e 5
@ ososi D8/05-BB o B8l —
Quality Finish Color art. Model Py
- D8/05-
{ black D8/03-BLACK Ko2 e
AiSI201 R - D8/05-BB
77
XA
&)
B
os
-i-
/ 3
125
Quality  Finish art. Orientation éj Model A
DE/05GR4 right pioy o
D8/05G-L-i left LI |
D8/05-GR ight  opers — NOZKT i? q g g——1—
D8/05-GL left with handle ket o
15
80
/4R
il
Quality  Finish Coleor art. ? % Model N
D8/04+ fix -
D8/04-2-i fix  fx —=
- D8/04-2-R-i open fix -
AISI304 bt Ko1 ng
D8/04-2-L-i fix open 2 {..
D8/040-2-i open open ew kI
black D8/04-BLACK fix - 1 50
A e " at

112



D2/07-Zn
D2/05T-Zn

D2/11-Zn

D2/34-Zn D2/57

D2/28-Zn D2/52-Zn
| Quality Finish art. A B C D X H Model
@
D2/07-Zn 145 60 19 42 12 i / o
 D2/11-Z2n | 132 45 48 28 15 _
D2/34Zn 152 50 40 17,5 34 A
D2/28-Zn | 145 42 37 % K12 :5015‘“
 D2/05T-Zn 143 80 35 a1 ) | \
D2/52-Zn | 145 45 35 49 K13 . o
g 3 T {
D2/56 150 48 40 19 37 18 Kia / f
D2/57 160 54 50 25 19 !
b e
i}
]
7 1l

113



EZ raL black D12/08-90

114

125

8
-
u
30
e
N
| [0
J
ol = g
=+
|
ﬁ
®
90
_F
30
>
N
4

(&




[=]
wy
wy
(5]
30
o &2
sla &

&

Quality Finizh Color art.
EZT rAL black D12/16-90

:

@8

ALUMINIUM RAL black D2/29 K3 | _ 107

121

55-75

:

W

50
1

58
12F

67

nish art Model

PVC raw D2/30 K03

115



56

i
N

art \ Model

D5/11-Fe D0/03
K12 .
D5/11-Zn ~ bo/os |44 D2/28-G = D5/11-Zn + DO/05-Zn + D2/28-Zn

89

WA N A N AN AR S A NE s

B = ooposzn s

HANDLES




@15

Quality  Finizh art.

El -~ oo

Quality  Finish art.

S - oo

D9/10-93x65 D9/10-93x65-INOX

| D9/10-93x65
N D9/10-93x65-INOX

117



i
)
v I)( &
[N

b1/30F — u:iz

|_ Quality Finish  Color art. a s di c Model
| PVC black | D1/39F ! 3 48 38 3.5
D8/09-i K02
30 50 5 10

RAL black D8/09-BLACK

1] a
g
\ 0;
5
D1/46K D1/46F D8/08-i —
Quality art. a b D s d di G Model
50 - 21 - 4 K13
B E - 38 - 5 10 KO1
w
=
o
o
c
& 70
(@]
< &
b
(&)
g ™

D1/32K

iOLmIi\"‘,- Finizh art. d Modei#
ﬂ raw  D1/32K 18 K11, K1

118



3
:
@
D1/55-90
IQu:Iity‘ Finish art. A F s d t Model
D1/55-90 60 280 225 5 K13
D1/18-90 47 245 188 52 2 N 5
. B
e
18_\
L] w
o
fe2]
:
@ i
D1/02 D1/03
Quality  Finish art. A F s d Model
D1/02 40 240 215 55
Di1/19 40 278 200 6,5 K11, K12
D1/03 50 240 213 5] : n E
0
w
S
B
o
58 g
5
&} <] O
| <+ 3
N
e 8
i =
g 5 PN
9 T
5 g Ly (=3
l = | ™| &
o
[
an
A — v
Quality  Finish art.
'D12/07-90

119



265
90

D1/14AL D1/14AR D1/14A-S D1/14A-5-T
Quality Finish art. A Model
sat
JRDH AL S '211';(?; BR/30x30-set S
| D1/14AR 105  ko1.ko3 DrY/30x30setES
| D1/14AS
D1/14A-ST 110 ) )

268

|

205
—== | -
nifa
/

|6
D1/14AL-T90 D1/14AR-T90
alit Finish art Model = +
~ D1/14AL-T90 KO1-K03 |
raw K13

D1/14AR-T90 K21 -K23 D1/14A-TS0 D1/14AL-TS0 D1/14AR-TS0

o 105
= = =
5 .
o
i \
o} 0
5] /
ol
8 =
25 2
o ()
-
A
D1/14H2 D1/14H3-S D1/65H2 /
D1/14H3 |8,
.ii_::'i'f'.}-. art B C D t Model
D1/14H3 48 a0 18 KO1-KO03, K11, K12, K21 - K23
3
raw  D1/14H3-S - - - -
j D1/65H2 48 a0 18,5 2 K01 - K03, K11, K12, K21

120



r D 2 £ = D17 D17 | D19 D19 2 19 D19.5
H @ Hmax | 26 15 18 15 17 17 19 15 30 35
Model | K01 K02 K03 K11 Ki2 K13 K14 K21 K22 K23
BR/30x30-cet (E) v
BR/30x30-set S(E) 7 7
BR/50x30-cet (E) 7 e
BR/40x40-cet (E) v v v v i s v
BR/60x40-cet (E) v ¥ v o v g v
BR/80x40-cet (E) & v v s K 7 v
B1/52J-30x30 v
B1/39J-50x30 g v v
B1/52J-50x30 Vs v v 7 v
B1/58J-50x30 v 72 v v v ‘ v
B1/39J-40x40, B8/58J-40x40 v v v
B1/58J-40x40 v 7 ‘ 7
B1/52J-40x40 v v v 7 v
B1/60-40x40 o v v v &
B1/58J-60x40 75 v v s v &
B1/59-60x40 v v v v i v
B1/58J-80x40 v ¥ v v v v v
B1/48-80x40 " 4 7 v 7 v ¥
D1/14AL, D1/14AR v 72 v v v ‘ v v v
D1/14H2, D1/14H3 v v v v v v v v
D1/14AL-T90, D1/14AR-T90 v v e ‘ v 7 i v v B E
D1/34-L42, D1/34-R42 v v s v v v 2 v
17
D1/35--90, D1/35-R-90 v 7 ¥ v v v v v %
D1/39F g &
=
D8/09-i v (@]
(&)
¥
D1/46K, D1/46F ‘ v v g (®)
| | [ | _ | _ | 9
D8/08+ v
D1/32K, D1/32F v v ‘
D1/55-90 v v v
D1/18-90 7 v v
D1/02 F v
D1/03 v v
D1/19 v v

121



»
=
.
T
g
O
5]
%
X
O
-

ﬁ

S
IR
8 8
1
5 e
B1/34-32A B1/33-30
B1/30-50... D1/14... ————
B1/34-42A B1,/33-40
T_L._ _,_'8_1_._
& @
B1,/33-30 B1/34-32A
B1/30-50... Di/14.. —————
B1/33-40 B1/34-42A

210

Quality  Finish art. B
EHLSFIZARE 32
B1/34-42A 42
L]
Quality Finish art. A s
B1/33-30 90 30
B1/33-40 85 40
F
(o]
Quality  Finish art.
B1/41-28
Be/ar2s el

122

B1/09

B1/30...

B1/34...




315

]—" I M 1
il D 1

- e £ B t
B1/09-40M
40
B1/09-40V 5
raw
B1/09-50M
i 50
B1/09-50V 3
(=]
S

50, [ 3 ‘

Fe raw | B1/09-50H |B1/09-50H | B1/07T...
EELMY raw | B8/09-50H (8809501 | B8/OTT...

S [
Jll
1L

b|a,_-,k :31}546“ i

pee
@1z
@67
Ple

@
=
3
T
o
s
o
o
v
&}
g

E gy

=
[ B
18| #,
oY
& A=
o™~
zh . '||_‘ 24

black = B1/65 Hew

123



6 e HLINIKOVE BRANY
ALUMINIUM GATES

e PRISLUSENSTVO
ACCESSORIES







L4m/Gs200kg

H/34-4-90x95-NYLON
SV-90x95-AL-ECO

H/02-90x95-AL-6000
ALUMINIUM natural H/02-90x95-AL-BLACK-6000
H/02-90x95-AL-ANTHR-6000 anthracite hel

-y
T

H/14N-90x95-NYLON

1x

1x

4

by o)

n | !

U o
N S

|ﬂ 5 || |

i

==y ==
48
#0

; e
black 6000 e/

H/40-90x95P-BLACK
H/40-90x95P-ANTHR

black | FeW
anthracite | FEW

L

50
]-(\l
o
o
4 ¥ =
-+
[+
=+ 112
102

H/15P-100-BLACK
H/15P-100-ANTHR _ anthracite

=
»
L.E:
S
o
:
E
5
)
=4

170 108 65 50 108

2y
I
m H/34-4.90x95NYLON | nei/ %ﬁ

H/14N-90x95-NYLON

31

H/40-80x95P

2x
2x

206
TS

Enlwe
Eajss;

,__
I L

&

Ty

o/

new

60

1|




MODEL Al . . .
20x99 20 ) o ) ‘f}}ﬁ\'} \
L4m/Gs200kg m N ©
D H/34B-4-90x99-NYLON H/34B-4G-90x99-NYLON
SV-80x99-AL-ECO 1x 1x
SV-90x99-AL 1x 1x

H8/14N-90x95

10.'ZAI i @131
N7 I-L' '_-In
= H+
J & of 2
2
"= C &4 C.
28
H/02-90x99-AL-6000 = e
H/02-90x99-AL-BLACK-8000  black 6000 FveW
puns naturet T/02-90x99-AL-ANTHR-6000 _ anthracite el
" 1/02-90x99-AL-7000 - hew
H/02-90x99-AL-BLACK-7000  black 7000 e
H/02-90x99-AL-ANTHR-7000 anthracite e
50
11230 ]-w
@ @
i 2
L pi
3
 PE—
+ 112
255
102
H/15P-100
H/15P-100-BLACK black_ T T 1084\0“’
H/15P-100-ANTHR _ anthracite oW
raw  H8/15P-100 hew

) ‘ }
- >
H8/15P-100 H8/40-90x99P H/02-90x99-AL-6000
1x 1x 2x -
T 1x 2x 1x

H/34B-4G-90x99-NYLON | e/

.|

xP7

bl

HB/40-090x99P e
PERGEN raw  HB/40-90x99P-BLACK black | FveW/
H8/40-90x99P-ANTHR  anthracite | &/

| = n

/=
=
=
o

& @2 E
o<
%
=

(o T
I
i

138.5

LAETKDES raw HB8/14N-90x99-NYLON | foil/

127




MIX

-
|
|
H/12-25 H/12-4T -
H/12-25-BLACK black  HeW H/12-4T-BLACK _black | eW
H/12-25-ANTHR anthracite Ve H/12-4T-ANTHR anthracite FL €W/
raw  Hs/12-2S . HB/12-4T _

| Quatit F art | i
— ' v EEEA raw | aeo00020 | Emmm
{Awmmiom  natural | AL/RP-6005-6000-N /0432 W, g e | raw  H8/52-40x40

o H8/04L-35
w2’

- art Color Quality Finie = |
— - H/04L-35 !
H/53-BLACK black e " raw  Hs/04L-35 | ew
H/53-ANTHR anthracite e/ N

raw | Hg/53 -

] 4

art H/04G-43 | :
Hg/04-22-W _ raw  HB/04G-43 | pew

(%)
w
i
(0]
%)
L
s
<

nsiz04 8
128



[s]

u
J
]

H/37-60P
H/37-60P-BLACK  black | @il
H/37-60P-ANTHR anthracite

- Mew
raw  Hgs/37-60P -

art. Color
H/10B-60x130 -
H/10B-60x130-BLACK  black | #veW/
H/10B-60x130-ANTHR anthracite &/

__ H8/10B-60x130 -

art Color
H/16-46x130 = |
H/16-46x130-BLACK  black | Fvei/
H/16-46x130-ANTHR anthracite i/
H8/16-46x130 _ -

Gmax (kg)

. H/O1PVC-AL 300

| H/O1PVC-AL-K

rt. G max G opt

ax G

ROAD400-ZKIT 400kg 200kg

129

%)
i
i
@]
%]
L
9
<




)
—n

B
-

1

42

I

Hidiiii:

WS-Edelstahl
Pflege-Spray

 Edwetab e Pt miathe und pberte Jbetichs
= wrk] Werderost S rminlun igege

il g

Mooyt 3 rnrytabie pa srtaces unn o e E
» Repaunse o reaour fu s e

e e
= V5 s s maths e g gl
* Gaan tevuguasande vermdes ingee.

AR T

i
i

'S
CLEANER &

for stainless railings 500ml




AlISI316

AISI304
AlISI316

AISI316

(7

A-DIN 914-A2 M5x5
A-DIN 914-A2 M5x6
A-DIN 914-A2 M5x8
A-DIN 914-A2 M6x6
'AG-DIN 914 M5x5

A-DIN 916-A2 M10x14
A4-DIN 916 M10x14

b

A-DIN 6334V M8x25-A2

A-DIN 6334V M10x25-A2

A-DIN 913-A2 M5x10

A-DIN 913-A2 M6x10

A-DIN 913-A2 M6x12
A-DIN 913-A2 M8x16

A-DIN 913-A2 M8x20

A-DIN 913-A2 M8x25
A-DIN 913-A2 M8x30
A-DIN 913-A2 M8x40
A-DIN 913-A2 M8x80

A-DIN 913-A2 M10x12

A-DIN 913-A2 M10x35
A-DIN 913-A2 M10x100

A4-DIN 913 M5x5

A4-DIN 913 M5x10
A4-DIN 913 M6x10
A4-DIN 913 M6x12
A4-DIN 913 M10x12
A4-DIN 913 M10x16
A4-DIN 913 M10x55

8
10

10

[ARR RN RRCREO RN

10

12
16
20
25
30
40
80
12
35
100

10

12

18
55

AlISI304

AlSI316

AISI304

AlSI316

AlISI304
raw

AISI3 16

DIN 7991 M8x20-Zn
DIN 7991 M12x30-Zn

| A-DIN 7991-A2 M5x12

A-DIN 7991-A2 M5x16

j A-DIN 7991-A2 M5x20
| A-DIN 7991-A2 Méx8
| A-DIN 7991-A2 Méx14

A-DIN 7991-A2 Méx16

| A-DIN 7991-A2 M6x20
| A-DIN 7991-A2 M6x40
| A-DIN 7991-A2 M6x60
| A-DIN 7991-A2 M8x12

| A-DIN 7991-A2 M8x16
| A-DIN 7991-A2 M8x30
| A-DIN 7991-A2 M8x35
| A-DIN 7991-A2 M8x50

A-DIN 7991-A2 M8x70

A-DIN 7991-A2 M8x80

A4-DIN 7991 M5x16

| A4-DIN 7991 M6x14
| A4-DIN 7991 MEx40
| A4-DIN 7991 M8x20
| A4-DIN 7991 M8x30
| A4-DIN 7991 M8x70
| A4-DIN 7991 M8x100

A4-DIN 7991 M10x20

|A4-DIN 7991 M12x30

DIN 7380 M10x20 8.8-Zn

A-DIN 7380-A2 M5x12

I A-DIN 7380-A2 Mé&x12

A-DIN 7380-A2 M8x10

! A-DIN 7380-A2 M8x12
A-DIN 7380-A2 M8x20
A-DIN 7380-A2 M10x20

A-DIN 7380-A2 M12x20

: A4-DIN 7380 M5x12
| A4-DIN 7380 M5x16
| A4-DIN 7380 M6x12

A4-DIN 7380 M8x20

| A4-DIN 7380 M10x20

A-DIN 912-A2 M5x20

| A-DIN 912-A2 M8x20

A-DIN 912-A2 M10x45
A-DIN 912-A2 M12x25
A-DIN 912-A2 M12x35
A4-DIN 7984 M8x12

10

10
12

20

45
25
35

20
30
12
16
20

14
16
20
40
60
12
16
30
35
50
70
80
16
14
40
20
30
70

100 |

20

30

20

12

10

f

20

12
16
12

20

s

131

%)
i
i
@]
%]
L
8
<




steel 8.8 DIN 933 M10x30 8.8-Zn - A-DIN 917 M8 8 10
- =s . ra“ |
AlSIz16 IFETY I A4-DIN 933 M10x30 A-DIN 917 M10 10 12

o @85 "
( 0218 4

| A-DIN 439B-A2 M8 4

m raw A14/08-WASHER | 8
) B | AcDIN S 51 MB | 8.5
AlSI304 A-DIN 934 M10 10 8
raw | A-DIN 934 M12 12 10
il | A-DIN 934 M1i6 | 16 13
AlSIz18 ' A4-DIN 439B M8 8 4
A4-DIN 934 M10 10 8

| A-DIN 562 M6 6 10 32

steel 8.8 Zn W-DIN 7991 M8x20-P ‘
| A-DIN 562 M8 8 13 4
AlISI316 | W-DIN 7991-A4 M8x20-P | A-DIN 562 M10 10 17 5

' 9
' & d
D d i : M

DIN 125 10-Zn 2 L B A-DIN 1587-A2 M6 6 12
DIN 9021 10-Zn 30 25 ) | A-DIN 1587-A2 M8 8 15
mlﬁ:: :?o-z-;n . 22 192 ; AISIS04 . | A-DIN 1587-A2 M10 10 18
e e hew A-DIN 1587-A2 M12 12 22
Sy T AISIZ16 | A4-DIN 1587 M10 10 18
A-DIN 9021-A2 M8 30 25
A-DIN 125-A2 M8 1 ° 16

(] e A-DIN 125-A2 M10 20 10 2

T A-DIN 125-A2 M12 24 25

(@] A-DIN 433-A2 M12 20 2

« A4-DIN 9021 M8 24 84 °

@) A4-DIN 9021 M16 50 17 25

2 AISI316 A4-WIT-SHB M8 23 9 new
A4-WIT-SHB M10 26 12 5
A4-WIT-SHB M12 28 14 hew

25

132



A-PH 5x20

20

AISI304 B~ 17
A-PH 5x35

A-DIN 7505A 5x20

A-DIN 7505A 5x35

m raw  A-DIN 7337-A2 4,8x20

N

A-FTT-M5

 A-FTT-M6
A-FTT-M8
A-FTT-M10

WooD/Ms-D
WooD/M10-D

35

20

35

8

12
14

16,5

19

A-DIN 9210 M6x60-A2
A-DIN 9210 M3x60-A2
A-DIN 9210 M8x100-A2
A-DIN 9210 M10x100-A2
A4-DIN 9210 MEx100
A4-DIN 9210 M8x60
A4-DIN 9210 M8x100

A4-DUAL ME/ME
A4-DUAL M10/M10

Q5/08-VYM250-M10-...
Q5/08-VM250-M12-...

| A-DIN 975 M6
| A-DIN 975 M8

| A-DIN 975 M10

| A-DIN 975 M12

| A-DIN 975 M16

| A4-DIN 975 M10

- A5/08-VM250-M10-..
| A5/08-VM250-M12-...
| A-DIN 975 M8-100

| A-DIN 975 M8-120
 A-DIN 975 M8-150

| A-DIN 975 M8-200

| A-DIN 975 M10-100
 A-DIN 975 M10-120

| A-DIN 975 M10-150

' A-DIN 975 M10-200

| A-DIN 975 M12-100

| A-DIN 975 M12-120

| A-DIN 975 M12-150

A-DIN 975 M12-200

€ 60 20
8
42
10 %935
6 100
g B0 20
100 42

10

65 30

1000

100
120
150
200
100
120
150
200
100
120
150
200

37

48
57

37
48

30

SISNS

|

133

%)
i
i
@]
%]
L
9
<




0
w
i
o
0
L
o
<

Q5/08-FH12-50
Q5/08-12-125

| A5/08-12-125

.CISIOB-I-_IAZ-MG-SOSK/S 80 20,5/5 |

125 22/5.8

23108 HAZMIBOSHAAY 80, 20.5/5

125 22/5,8

AISI304 _ AS5/08-105x11xM8
raw

AlISI316

A14/08-105x11xM8

5/05-QuiceFi OFs

PVC

134

J ?

A19/04-PVC A19/04-PVC-L

.~ raw  A19/04-PVC
polish A19/04-PVC-L
black A19/04-PVC-BELACK

4

A19/04-PVC-BLACK

Q11/FPX-M8
raw
Q11/FPX-M10

(4

os e 15

10

Q5/08-FAZ-IG-M10-70/S
raw  A5/08-FAZ-IG-M10-70/A4

Q5/07-8 NYLON
gray | Q5/07-10 NYLON
Q5/07-12 NYLON



steel 5.8 Q5/08-BS-5-10-90/S A19/27-M8 8 1

. 10 90 _ 140 15
Alsiz1e B A5/08-BS-5-10-90/A4 raw | A19/27-M10 10 13
steel 5.8 Q5/08-B5-5-12-110/S A19/27-M12 12 130 15 25
12 110

AlSI316 AS5/08-BS-5-12-110/A4

Q5/06-8x100CE 8 92 Q5/08-HAZ-M8-855/S 8 B85 12 20/7.5
Q5/06-10x120CE 10 120 Q5/08-FH15/25 5 89
i 10— - 15 25/9,5
Q5/08-FBN12-30 12 126 Q5/08-HAZ-M10-1065/S 108
Q5/06-16x123CE 16 123 AS5/08-HAZ-M8-855/A4 8 85 12 20/7.5
Q5/06-16x138CE 16 138 AS/08-HAZ-M10-1065/A4 10 106 15 25/95
AlISI304 ra A-Q5/06-10x120CE 10 120

A12/12-PVC A12/12-35-PVC
Q5/08-VIG-M8-100/S 8 100 12 e |A12/12-PVC <
A12/12-35-PVC A12/12-35-PVC il
Q5/08-VIG-M10-80/S 10 80 16
Q5/08-VIHG-M12-125/S 12 125 20
A5/08-VI-G-M8-100/A4 8 100 12
AISI316 A5/08-VI-G-M10-80/A4 10 80 16

AS5/08-VIHIG-M12-125/A4 12 125 20

%)
i
i
@]
%]
L
8
<

135



0
w
i
o
0
L
o
<

Q5/01GF-300 Nordic

Q5/01GF-400 Nordie _
Q5/01GF-300 Y 0 a0
Q5/01GF-400

il
Q5/05TR-310 Silicone  -5°C+40°C

Q5/03-300 300ml, hobby

136

-20°C +10°C

-10°C +40°C | a GFP-3
Aves/ | Q5/01GFP-300

|a5/01B-300 e
|Q5/01B-400 vinylester -10°C +40°C Q5/01GFP-a0p  oWester =S+
Q5/01B-400 Winter -20°C +20°C

S WuRTH

Q5/04-250
' ] uretan  _coc iapec | |as/04 17 215
Q5/01-WIT-UH300... 320 SR =~ -5°C +40°C as/ |

| |@5/04-250 8 250 |EW

Q5/01-WIT-VM250... 300 vinylester -10°C +40°C.

|a5/01-16x130  mesh

|as/03-400

400ml, profi



-
-“\-_"—-—'
|@s/02 blow pump Q9/03-3x12 3 12 185 |o9/os-o,2x9 02 9 50

I Q9/03-05x9 05 9 33

| Q9/03-2x6 2 6 16,5 eW

Q1/BO2-INOX 345 Pipe cutting | Q1/BO2-INOX-RK Q1/B0O2-INOX

| A19/model741-8

ACCESORIES

137



I Q8/LP-7x4,5 riveting punch 2 steps | Q8/LP-7x4,5-B riveting punch 1 step

El

sew Mew

%muuu,om,sn 5

new
| ar I Quahty art |
A-DRILL-M5 5 4 | A/FDRILL-MSC | 5 ‘ i i
' 1 A/FDRILLMEC | 6 | c B Jog/og  cuting/drling 400
'HSSCO5 ADRILLME 6 48 HSSE rpRILLMBC & - | oi
A-DRILL-M8 8 64 A/FDRILL-M10C | 10

Rezny kotod
Cutting ai

)
w
o
O
| {p Q1/Go1 360
Q |Q1/RNO1-125x1 Q1/L01-125-40 |}7
= |Q1/RNO1-150x1,6 ing disc | QAL a0 flap disc
| SANGT-150x ] SARKEES | it Q1/L01-125-80 e
|Q1/RNO1-230x2 Q1/L01-125-120

138



Q/INOX-INSTALL-SET Q/INOX-INSTALL-SET-B Mnew
| Q/INOX-NSTALL-SET 1% - - 1x 1x 1 1 1x
1 X X
|Q/INOX-INSTALL-SET-B = 1% 1% 2% 2x 2x
A/Glue-10g-C 1-0 52 INOX A/Glue-20g 2.0 62 all purpose ?A/GLUE-509-C 62 INOX
. : : superfast - 50 :
'A/GLUE-50g-D 0.4 INOX
%
|
[t
é
new W Mew
Q5/05-MAMUT 290 instant fix GS/Cleaner-Glass 200 GS/Cleaner-Metal 200
[ i
p
‘ | |
(7]
=]
A/ACTIVATOR CA/ACTIVATOR CA/LAK %
(%)
A/ACTIVATOR-50g 50 for A/Glue.. | 4oE€W A/spray-Ws 400 INOX Lo |A/Cleaner-500ml 500 INOX 5]
=l = 3 <
CA/ACTIVATOR corten effect | JAEW
1000
| CA/LAK lacquer for corten | €W

139



]
-a

@ FORGED COMPONENTS GATE ACCESSORIES GATE AUTOMATION

SYSTEMS ALUMINIUM FENCE
1 STEM

aypBfdydlay =~

kat-Forged-2024/25 kat-Gates-2024/25 kat-Automations-2023/24 KAT-ALU-SYSTEMS-2024/25

GLASS SYSTEMS SOLAR

POST RAILINGS MOUNTING

FRAMELESS GLASS
RAILINGS

SYSTEMS

(]
T
&
1w
4
<

KAT-GLASS RAILINGS-2024/25 KAT-POST RAILINGS-2024/25 KAT-GLASS SYSTEMS-2024/25 KAT-SOLAR-SYSTEMS-2024/25

140



(%)
w
i
@]
%)
L
s
<

AISI304 AISI316 | §5. 220

AlSI304 AlSI316

AlSI304 AlSI316

A1 X

<

* only mirror finish (polizhed)
[ — INOX AISI 304
E — = % E l:l - vhodny do prostredia bez chléru a oxidu sirigitého
AISIZ04 INOX AISI 316
) ) - vhodny de prostredia s vysckym obsahom chléru, oxidu siricitého,
nerezova stal rozsdamentes stainless Edelstahl INOX vysokej vihkosti, do primorskych regiénov
ocel nierdzewna acel steel INOX S.S. 2205- vhodny do prostredia s vysokym obsahom chiéru,
oxidu siricitého, vysokej vinkosti s pritomnostou soli na pobreZi a na
| | volnom mori.
CORTEN corten ocel corten stal corten aceél corten steel Cortenstahl corten EE INOX AISI 304
hlinik aluminium aluminium aluminium Aluminium aluminium I—oe;l.:jitable fartheenvironment withait chioring afid sulphir dioxide
zliatina | stop cynkui Zn+Al : aliage | INOX AISI 316
il S ZAMAC Zinkdrucks
Zn+Al | aluminium otvozet nkdruckguss Zn+Al - suitable for the environment with a high content of chlorine, sulphur
5 | 2 : ; dioxide load, high humidity, coastal regions
| | Ei i
Zelezo | zelazo vas iron isen er 'NS o)tagi S'fom5 - o -
3 X ; : 3 : - Suitable for environments with a high content rine, sulfur
12- zinok | cynk cink zinc Zink zine dioxide, high humidity with salt on the coast and on the high seas.
mosadz miedz sargaréz brass Messing laiton m— INOX AISI 304
I ' . i - przeznaczone dla Srodowiska bez dwutlenku siarki oraz chloru
RNyl chilorkle INOX AISI 316

- przeznaczone dla $rodowiska o wysokie] zawartosci dwutlenku siarki

paiyetiylens tergpmhalate giyonl. oraz chloru, wysokiej wilgotnosc oraz w regionach nadmorskie

[ - | . | INOX 5.5. 2205
gums | guma gumt | Iuboer Summi gamme: - Madaje sie do srodowisk o wysckie] zawartosci chloru, dwutlenku
~ E siarki, o wysokiej wilgotnosci, o duzym zasoleniu, w strefach nadmor-
hak | buk bikk | besch Buche helre | skich, lub w bezpodrednim kontakcie z woda morska.
dub dab télgy oak Eiche chéne : INOX AISI 304
b - - - - alkalmazhato olyan kérnyezetben, ahol nincs klor és kén-dioxid
smrek Swierk lucfenyd spruce Fichte épicéa terhelés
- - = = - INOX AISI 316
sklo szkio iveg glass Glas verre - alkalmazhato olyan kérnyezetben, ahol magas a kiér-, vagy kén-
brus szlif szalcsiszolt brushed geschiiffen brossé f;‘%;j ;egezfezzso,{,magas aparatartalony tengerparti regickhary
K320 K320 K320 K320 K320 K320 SEyeTEA - G x < 2
; - Alkalmazhaté magas klor-, kén-dioxid-, sos nedvességtartalmu
strieborny srebro ezist silver Silber argent kérnyezetben, valamint tengerparton és a nyilt tengeren”.
tikor i i i INOX AISI 304
k1] lesk polerowany z polished poliert poli o = .
2 polirozott ! - geeignet in Umgebung ohne Chlor und Schwefeldioxid
2 surovy surowy nyers raw roh brossé INOX AISI 316 o
on - geeignet in Umgebung mit einem hohen Gehalt an Chlor, Schwefel-
= nebriseny neszlifovany natir rough ungeschiifien non-brossé dioxid oder in Umgebung mit hoher Luftfeuchtigkeit, in Kustenregi-
I onen
nerez nierdzewny | rozsdamentes inox Edelstahl inox |NDX. S.5. 2__205 3 .
- geeignet fiir Umgebungen mit hohern Gehalt an Chlor, Schwefeldi-
ELOX eloxovany anodowany eloxalt elox Eloxiert anodisé OS:'S und hoher Luftfeuchtigkeit mit Salz an der Kiiste und auf hoher
® | potrebné | niezbedne szilkséges | necessary | Anpassungist | modification |
e Upravy | przystosowanie| modositds | modification notwendig nécessaire .] INOX AISI 304
44 nismontaang]  resiians nem not ittt n - Convenable pour les envirennements sans chlore et/ ou bioxyde
| notazzembles | | _dsszeszerelt  assembled ~assemblé | de soufre
e | .5 : die Abmes- - ; INOX AISI 316
~ priblizny przybh_zone kozelits méretek. ap_proxmjate sungen sind dlmensmr_m -Co ble pour les envirt nents avec un contenu élevé de
rozmer wymiary dimensicn ungefahr approximatives chlore et/ ou de bioxyde de soufre, une grande humidité, régions
‘ legiobban ' maflimes
bestseller bestseller best seller Bestseller best-seller INOX S.S. 2205
eladott ” i ;
= I T T = 1 - Convenable au milieu avec un contenu élevé du dioxyde de soufre,
novinka nowosc 0j new Neuheit nouveau ainsi qu'au milieu humide contentant du sel, tel que le bord de mer ou
la mer ouverte.
RAL color

PVD = (physical vapor deposition) coating
PVD-L = polished surface finish

LED

TEST / CERTIFICATE

i KA| [ES : ! e
St | ﬂ ‘ % é STATIC STUDIO Gamin & [ R I S E Oummllh
© pravo na technické, tvarové a rozmerové zmeny vyhradené/ righta to ical, shape and di i changes reserved

[comosion test report INFRAPROUEKT 5.6,

@ pre najnoviie informacie navitivte nadu webowd stranku www umakov ek / for latest information please visit our web site v umakovshop o

142



(D +421 51 488 19 00

info@umakov.sk

% SERVIS

+421 910 262 820

umakov.sk
objednavky@umakov.sk

%7 REKLAMACIE
+421 911 915 952

+421 908 944 153
+421 910 262 707
+421 908 986 081

UCTOVNE ODDELENIE
+421 902 928 245

MARKETING
+421 915781 139

umakov.sk +421 911 383 645 +421 911 750 326
servis@umakov. sk reklamacie@umakov.sk fakturacia@umakov.sk marketing@umakov.sk
KROMPACHY BRATISLAVA BANSKA BYSTRICA
Hormadska 337 Roziavska 1 Zvolenska cesta 17
053 42 831 04 974 05
8 +421 911 455 347 8 +421 917 739 412 8 +421 905 304 548
+421 904 644 378
krompachy@umakov. sk ba@umakov.sk bb@umakov. sk
() +420212240751 umakov.cz R3  +420608 743 164
info@umakov.cz objednavky@umakov.cz +420 775 455 079
+420 608 313 799
3¢ sErvis %7 REKLAMACE B4 UCETNi ODDELENI
+420 775 061 735 +421 911 915 952 +421 902 928 245
umakov.cz +421 910 262 820 +421 911 750 326
servis@umakov.cz reklamace@umakov.cz fakturace@umakov.cz
PRAHA - OTICE RICANY U BRNA HRADEC KRALOVE
Otice 40 Nam. Osvobozeni 63 Nachodska 607
251 63 Strancice 664 82 503 01
& +420 608 313 799 & +420 608 743 164 & +420 778 001 899
praha@umakov.cz brmo@umakov.cz hk@umakov.cz
() *48322021929 E urnakov.pl 3  +48500 110 199
info@umakov.pl zamowienie@umakov.pl +48 668 494 940
+48 517 534 197
umakov.pl & GDANSK 8 RADOM 8 NOWY SACZ 8 POZNAN
+48 735 419 155 +48 664 855 695 +48 510 696 236 +48 602 335 611
gdansk@umakov.pl radom@umakov.pl nowysacz@umakov.pl poznan@umakov.pl
Ruda élqska
Al. Rodziny Gurtlerow 81
41-700
& +48 517 534 197
umakov@umakov.pl
() +36306 446 653 B umakovhu 3 +36 306 446 653
info@umakov.hu megrendeles@umakov.hu +36 301 610 011
umakov.hu +36 307 572 009

BUDAPEST
Karman Todor utca 1. A_ ép. 1. ajto

2142 Nagytarcsa

8 +36 305 662 474
hungary@umakov.hu

0Eeai



> umakov sk

www.umakov. sk
info@umakov.sk

+421 51 488 19 00

UMAKOV DE / AT

www.umakov.de
info@umakov.de

+421 907 684 761

P umakov cz

www._umakov.cz
info@umakov.cz

+420 212 240 751

UMAKOV FR
www._umakov. fr
info@umakov.fr

+33 6.46.33.03.51

P umakov PL

www._umakov.pl
info@umakov.pl

+48 32 202 19 29

UMAKOV IT

www.umakov. it
info@umakov.it

+39 348 349 0444

UMAKOV HU

www_umakov. hu
info@umakov.hu

+36 306 446 653

UMAKOV WORLD

www._umakovshop_com
info@umakovshop.com

+421 915 093 533



